F 12 (catalogue )

AL E] N i
REFERENCE ffi DESCRIPTION PAGE
01100 FERRULE FOR CHINA1-WIRE HOSE 2
01200 FERRULE FOR CHINA2-WIRE HOSE 2
01300 FERRULE FOR CHINA3-WIRE HOSE 3
01400 FERRULE FOR R12/20-24& ‘FEIYU’ 4-SPIRAL HOSE 3
00100 FERRULE FOR SAE 100R1AT/DIN20022 1ST HOSE 4
00110 FERRULE FOR SAE 100RIAT/DIN20022 1SN HOSE 4
00110-A FERRULE FOR SAE 100RIAT/DIN20022 1SN HOSE 5
00200 FERRULE FOR SAE 100R2AT/DIN20022 2ST HOSE 5
00210 FERRULE FOR SAE 100R2AT/DIN20022 2SN HOSE 6
03310 FERRULE FOR SAE 100R2AT/DIN20022 2SN HOSE 6
00400 FERRULE FOR 4SP ~ 4SH/10-16 - R12/06-16 HOSE 7
00401 FERRULE FOR R12/20-24 HOSE 7
00018 FERRULE FOR SAE 100R7 HOSE 8
00TFO FERRULE FOR TEFLON HOSE 8
00500 FERRULE FOR SAE 100 R5 HOSE 9
00621 FERRULE FOR GB/T 10544 R13/SAE 100 R13/EN856 R13 HOSE 9
10311 O-RING METRIC MALE FLAT SEAT 14
20211 20211-T | METRIC FEMALE FLAT SEAT 15
20241 20241-T | 45° METRIC FEMALE FLAT SEAT 16
20291 20291-T | 90° METRIC FEMALE FLAT SEAT 17
10411 METRIC MALE 24°CONE SEAT L.T. 18
20411 20411-T | METRIC FEMALE 24° CONE O-RING L.T. 19
20411C METRIC FEMALE MULTISEAL 24° CONE L.T. 20
20411C-T

20441 20441-T | 45° METRIC FEMALE 24° CONE L.T. 21
20491 20491-T | 90° METRIC FEMALE 24° CONE O-RING L.T. 22
20491C 90° METRIC FEMALE 24° CONE MULTISEAL L.T. 23
20491C-T 23
10511 METRIC MALE 24° CONE SEAT H.T. 24
20511 20511-T | METRIC FEMALE 24° CONE O-RING H.T. 25
20511C METRIC FEMALE 24° MULTISEAL H.T. 26
20511C-T

20541 20541-T | 45° METRIC FEMALE 24° CONE O-RING H.T. 27
20541C 45° METRIC FEMALE 24° MULTISEAL H.T. 28
20541C-T

20591 20591-T | 9g° METRIC FEMALE 24° CONE O-RING H.T. 29
20591C 90° METRIC FEMALE 24° MULTISEAL H.T. 30
20591C-T

LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

[ I« CATALOGUE

10611 METRIC MALE DOUBLE USE FOR 60° 31
20611 20611-T | METRIC FEMALE 60°CONE 32
20691 20691-T | 90° METRIC FEMALE 60° CONE 33
10711 METRIC MALE 74°CONE 34
20711 20711-T | METRIC FEMALE 74°CONE SEAT 35
20741 45°METRIC FEMALE 74°CONE SEAT 36
20791 90°METRIC FEMALE 74°CONE SEAT 37
10811L METRIC MALE 90°CONE 38
20111 20111-T | METRIC FEMALE MULTISEAL 39
20141 20141-T | 45°METRIC FEMALE MULTISEAL 40
20191 20191-T | 90° METRIC FEMALE MULTISEAL 41
50011 METRIC STANDPIPE STRAIGHT 42
50091 90°METRIC STANDPIPE STRAIGHT 43
51011 BSP STANDARD PIPE 44
51091 90°BSP STANDARD PIPE 45
NS NL RETAINING NUT L.T. 46
12211 BSP MALE O-RING SEAL 47
12611 BSP MALE 60°CONE SEAT 48
12611A BSP MALE DOUBLE USE FOR 60°CONE SEAT OR BONDED SEAL | 49
22611 22611-T | BSP FEMALE 60°CONE 50
22611-W

22611D BSP FEMALE 60°CONE DOUBLE HEXAGON 51
22611D-SM BSP FEMALE 60°CONE DOUBLE HEXAGON 51
22641 22641-T

22641-W 45°BSP FEMALE 60°CONE 52
2269122691-T | .

2691 W 90°BSP FEMALE 60°CONE 53
22691K

2111 221117 | BSPFEMALE CONE DOUBLE HEXAGON 54
LW BSP FEMALE MULTISEAL 55
22141 22141-T | 45°BSP FEMALE MULTISEAL 56
22141-W

2219122191-T | 90°BSP FEMALE MULTISEAL 57
22191-W

13011-SP BSP MALE 58
14211 ORFS MALE O-RING SEAL 59
24211 24211-T| ORFS FEMALE FLAT SEAT 60
24211-W

24791 242917 | 90°ORFS FEMALE FLAT SEAT SO 12151-1—SAE J516 61
24291-W

15611 NPT MALE 62
16011 SAE O-RING SEAL 63
16711L JIC 74°MALE CONE SEAL LONGER 64
16711 JIC 74MALE CONE SEAL 65

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

[ I« CATALOGUE

26711 JIC FEMALE 74° CONE SEAT 66
26741 26741W | 45° JIC FEMALE 74° CONE SEAT 67
26791 26791W | 90° JIC FEMALE 74° CONE SEAT 68
26791K 90° JIC COMPACT FEMALE 74° CONE SEAT 69
17811 SAE MALE 90° CONE 69
27811 SAE FEMALE 90° CONE SEAT 70
21611 NPSM FEMALE 60° CONE 71
87312 SAE FLANGE 3000 PSI 72
87342 45° SAE FLANGE 3000 PSI 73
87392 90° SAE FLANGE 3000 PSI 74
87392-H 90° SAE FLANGE SPECIAL HEIGHT 75
HALF FL 3000 PSTHALF FLANGE 76
FLANGE FS 6000 PSTHALF FLANGE 76
87612 SAE FLANGE 6000 PSI 77
87642 45° SAE FLANGE 6000 PSI 78
87692 90° SAE FLANGE 6000 PSI 79
18611 JIS METRIC MALE 60° CONE SEAT 80
28611 28611W | JIS METRIC FEMALE 60° CONE SEAT 81
28691 286912 | 90°JIS METRIC FEMALE 60° CONE SEAT 82
19611 JIS GAS FEMALE 60° CONE SEAT 83
29611 29611W | JIS GAS FEMALE 60° CONE SEAT 83
29691 29691W | 90° JIS GAS FEMALE 60° CONE SEAT 84
88111 JIS FLANGE 85
88141 45° JIS FLANGE 85
88191 90° JIS FLANGE 86
20011-ST METRIC FEMALE WATERWASH INSERTS 20011-ST 86
70011 METRIC BANJO 87
700M METRIC BOLT 88
72011 BSP BANJO 89
720B BSP BOLT 90
90011 DOUBLE CONNECTOR 90
90012 DOUBLE CONNECTOR 91
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

=i FERRULE

¥} 2] (INDEX)

01100 017200 0l 00 01400 00100 00110
V(”(”(”, A
Tl M@ % il M@ ﬂm
00110-A 00”00 Q0”10 0 10 00400 00401
i i 1] @W%
0001 001TO 00500 0067 |
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com

Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

=i FERRULE

L

f [T

01100

it — IR ]
FERRULE FOR CHINA1-WIRE HOSE

E) & #y HOSE BORE ~l5| DIMENSIONS
PART NO. FatFE DN | ) DASH L
01100-03 5 03 28
01100-04 6 04 30
01100-05 8 05 32
01100-06 10 06 32
01100-08 12 08 34
01100-10 16 10 39
01100-12 20 12 43
01100-14 22 14 43
01100-16 25 16 50
01100-20 32 20 59
01100-24 40 24 74
01100-32 50 32 78

- L
01200
[l — Uft’lj’fplﬁ [‘;‘,T
FERRULE FOR CHINA2- WIRE HOSE

E) &y HOSE BORE ~l5] DIMENSIONS
PART NO. 2 #atFE DN | #¢) DASH L
01200-03 5 03 28
01200-04 6 04 30
01200-05 8 05 32
01200-06 10 06 32
01200-08 12 08 34
01200-10 16 10 39
01200-12 20 12 43
01200-14 22 14 43
01200-16 25 16 50
01200-20 32 20 59
01200-24 40 24 74
01200-32 50 32 78

LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

= r?,T FERRULE

L
01300
=i = ’%”éﬁiﬁ’ﬁ”ﬁ?;% &l
FERRULE FOR CHINA3-WIRE HOSE
) 247 HOSE BORE "] DIMENSIONS
PART NO. 2% DN | 4§ DASH L
01300-04 6 04 30
01300-05 8 05 32
01300-06 10 06 32
01300-08 12 08 34
01300-10 16 10 39
01300-12 20 12 43
01300-14 22 14 43
01300-16 25 196 50
01300-20 32 20 59
01300-24 40 24 74
01300-32 50 32 78
L

WWWT 01400

R12/20-24 T [5IiF b ERIDH L iR 22 Sz E‘{‘;‘é il
FERRULE FOR R12/20-24& ‘FEIYU’ 4-SPIRAL HOSE

o) &7y HOSE BORE 1] DIMENSIONS
PART NO. SF¥ DN | #%§] DASH L
01400-04 6 04 375
01400-06 10 06 39
01400-08 12 08 41
01400-10 16 10 43
01400-12 20 12 51
01400-14 22 14 54
01400-16 25 196 61.5
01400-20 32 20 67.5
01400-24 40 24 75
01400-32 50 32 79

LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

= r?,T FERRULE

- L

T’W [ﬁﬁ ; 00100

SAE 100RIA/DIN20022 1ST ’ﬂx r= fE,T
FERRULE FOR SAE 100R1AT/DIN20022 1ST HOSE

T

. &7 HOSE BORE "I5] DIMENSIONS
PART NO. "% DN | ¢ DASH IL
00100-02 4 02 27
00100-04 6 04 30
00100-05 8 05 31
00100-06 10 06 32
00100-08 12 08 34
00100-10 16 10 37
00100-12 20 12 43
00100-16 25 16 50
00100-20 32 20 59
00100-24 40 24 74
00100-32 50 32 78

L

I -

SAE 100R1AT/DIN20022 1SN ’ﬂx r= [‘E',T
FERRULE FOR SAE 100R1AT/DIN20022 1SN HOSE

) ¢4 HOSE BORE "{~] DIMENSIONS
PART NO. 2#4% DN | #f) DASH L
00110-03 5 03 24.5
00110-04 6 04 30
00110-05 8 05 31
00110-06 10 06 32
00110-08 12 08 34
00110-10 16 10 37
00110-12 20 12 43
00110-16 25 16 50
00110-20 32 20 59
00110-24 40 24 74
00110-32 50 32 78

LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

=i FERRULE

(NI -
1 SAE 100R1AT/DIN20022 1SN Zﬁﬁ;‘% [?—]T

FERRULE FOE SAE 100R1AT/DIN20022 1SN HOSE

&3 447 HOSE BORE rl~] DIMENSIONS
PART NO. SF% DN | #F) DASH L
00110-03A 5 03 23
00110-04A 6 04 30.5
00110-05A 8 05 30
00110-06A 10 06 32
00110-08A 12 08 34
00110-10A 16 10 37
00110-12A 20 12 4
00110-16A 25 16 51

L

(T -
SAE 100R2A/DIN20022 2ST ’3\ r= ﬁ

FERRULE FOR SAE 1OOR2AT/DIN20022 2ST HOSE

&3 447 HOSE BORE "l~] DIMENSIONS
PART NO. SF% DN | #F) DASH L
00200-02 4 02 27
00200-04 6 04 30
00200-05 8 05 31
00200-06 10 06 32
00200-08 12 08 34
00200-10 16 10 37
00200-12 20 12 43
00200-16 25 16 50
00200-20 32 20 59
00200-24 40 24 74
00200-32 50 32 78

LOMOFLEX CO.,.LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

= r?,T FERRULE

- L -
;\Q"‘LMMMT 00210
SAE 100R2AT/EN 853 2SN lﬁﬁ;‘% [?—ET
FERRULE FOR SAE 100R2AT/DIN20022 2SN HOSE
RR! &y HOSE BORE "l5] DIMENSIONS
PART NO. M DN | #E) DASH L
00210-03 5 03 24.5
00210-04 6 04 30
00210-05 8 05 31
00210-06 10 06 32
00210-08 12 08 34
00210-10 16 10 37
00210-12 20 12 43
00210-16 25 16 50
00210-20 32 20 59
00210-24 40 24 74
00210-32 50 32 78
R A
. L .
7
03310
SAE 100R2AT/EN 853 28N lﬁ”ﬁﬁ;’é [?—}T
I FERRULE FOR SAE 100R2AT/DIN20022 2ST HOSE
E) &y HOSE BORE "] DIMENSIONS
PART NO. #atE DN | ) DASH L
03310-03 5 03 23
03310-04 6 04 30.5
03310-05 8 05 30
03310-06 10 06 32
03310-08 12 08 34
03310-10 16 10 37
03310-12 19 12 42
03310-16 25 16 51
03310-20 32 20 59
03310-24 40 24 67
03310-32 50 32 72
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

= r?,T FERRULE

- L -
00400
Tﬂ/ W 4SP ~ 4SH/12-16 ~ R12/06-16 {475 i

FERRULE FOR 4SP ~ 4SH/10-16 ~ R12/06-16 HOSE

o) &7y HOSE BORE 1] DIMENSIONS
PART NO. SF ¥ DN | ¢ DASH L
00400-04 6 04 375
00400-06 10 06 39
00400-08 12 08 41
00400-10 16 10 43
00400-12 20 12 51
00400-16 25 16 61.5
00400-20 32 20 67.5
00400-24 40 24 75
00400-32 50 32 79

L

s
4SH ~ R12/326 lﬁﬁf—?ﬁ

FERRULE FOR 4SP - 4SH/10-16 ~ R12/06-16 HOSE

o) ¢ ¥ HOSE BORE "{~] DIMENSIONS
PART NO. ZF%['%¥ DN | 5] DASH L
00401-20 32 20 67.5
00401-24 40 24 75
00401-32 50 32 79

LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

=i FERRULE

e 00018

SAE 100 R7 lﬁfg r= [‘%,T

FERRULE FOR SAE 100R7 HOSE
o) &7y HOSE BORE 1] DIMENSIONS
PART NO. 2FatE DN | ) DASH L
00018-03 5 03 27
00018-04 6 04 29
00018-05 8 05 31
00018-06 10 06 31
00018-08 12 08 34
00018-10 16 10 36
00018-12 20 12 43
00018-16 25 16 50
3 00TF0
BTl
FERRULE FOR TEFLON HOSE
E) &7 HOSE BORE "I~ DIMENSIONS
PART NO. EE DN | #°E) DASH L
00TF0-03 4 03 26.5
00TF0-04 6 04 30.7
00TF0-05 8 05 30.6
00TF0-06 10 06 32.1
00TF0-08 12 08 34.3
00TF0-10 16 10 37
00TFO0-12 20 12 42.8
00TFO0-14 22 14 42.7
00TF0-16 25 16 50.8
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

FERRULE

T z 00500
| SAE 100 R5 ﬁiﬁ?}’é il
FERRULE FOR SAE 100 RS HOSE

) & 47 HOSE BORE "l~] DIMENSIONS
PART NO. “F[U% DN | %) DASH | SAE % ¢ L
00500-03 4 03 04 226
00500-04 6 04 05 25.7
00500-05 8 05 06 224
00500-07 11 07 08 26.2
00500-08 12 08 10 27.7
00500-10 16 10 12 29.7
00500-14 22 14 16 33.5
00500-18 28 18 20 42.7
00500-22 35 22 24 47
00500-29 46 29 32 50.8
00500-38 60 38 40 63.0

I
-

Lol

LI

00621

GB/T 10544 R13/SAE 100 R13/EN856 R13

FERRULE FOR FERRULE FOR SAE 100 R15 HOSE
PRI 913

o) &7y HOSE BORE 1] DIMENSIONS
PART NO. SF'¥ DN | #¢] DASH L
00621-12 20 12 53
00621-16 25 15 66
00621-20 32 20 88.5
00621-24 40 24 102
00621-32 50 32 108
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com

Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

il

*E‘ﬁ% - HOSE FITTING

&4 ( INDEX)

10

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

NL,NS

22611D-SM
12611 12611A 22611 22611D

NS

Nty

22191

—-SP

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

il

*E‘ﬁ% - HOSE FITTING

Y-
R

87691

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

12


http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

/
= 88191

20011-ST

A £ O [ O [

70011 700M 71011 710M 72011 7208

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

A
. 10311
fad ot P R
I 2RISR 1O FgiE
O-RING METRIC MALE FLAT SEAT
R Bl 2 E B N

AEE | H A C s1
10311-12-04 M12X1.25 04 22.5 10 14
10311-14-04 M14X1.5 04 23.5 11 14
10311-16-04 M16X1.5 04 23.5 11 17
10311-16-05 M16X1.5 05 23.5 11 17
10311-16-06 M16X1.5 10 06 23.5 11 17
10311-18-06 MI18X1.5 10 06 23.5 11 19
10311-22-05 M22X1.5 8 05 27 12 24
10311-22-06 M22X1.5 10 06 26 12 24
10311-22-08 M22X1.5 12 08 26.5 12 24
10311-27-10 M27X1.5 16 10 31.5 13 30
10311-30-12 M30X1.5 20 12 33.5 14 32
10311-36-12 M36X2 20 12 35.5 16 38
10311-36-14 M36X2 22 14 35.5 16 38
10311-39-16 M39X2 25 16 39 16 41
10311-45-20 M45X2 32 20 44.5 50 46
10311-52-24 M52X2 40 24 47.5 22 55
10311-64-32 M64X2 50 32 52.5 27 65

B LR R BT S -

NOTE : 1.

HOSE FITTINGS SERIES NUMBER IS 10312-XX-XX.

2 U RO
FOR USE WITH BRAIDED HOSES

2.

Yo 10312-XX-XX °©

IF USE WITH SPIRAL HOSES

b

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

14


http://www.lomoflex.com
mailto:info@lomoflex.com

il

*ET}%J\ HOSE FITTING

C A C A
HJJ_HJJUHHHU_L; 44_HJJMUUUUJ,
s e S e
METRIC FEMALE FLAT SEAT
20211 20211-T
R e B R
SRR g A C S2
20211-10-02 M10X1 4 02 14 6 14
20211-12-03 M12X1.25 5 03 14 8 17
20211-14-04 M14X1.5 6 04 16 8.5 19
20211-14-05 M14X1.5 8 05 15.5 8.5 19
20211-16-04 M16X1.5 6 04 16.5 8 22
20211-16-05 M16X1.5 8 05 17 8 22
20211-16-06 M16X1.5 10 06 16.5 8 22
20211-18-05T M18X1.5 8 05 17.5 8 24
20211-18-06 M20X1.5 10 06 18.5 8 24
20211-20-06T M20X1.5 10 06 16 10 24
20211-20-08 M20X1.5 12 08 18.5 10 27
20211-22-06T M22X1.5 10 06 16 10 27
20211-22-08 M22X1.5 12 08 19.5 10 27
20211-22-10 M22X1.5 16 10 19.5 10 27
20211-24-08T M24X1.5 12 08 16.5 11 30
20211-24-10 M24X1.5 16 10 20.5 10.5 30
20211-27-08T M27X1.5 12 08 18.5 10 32
20211-27-10T M27X1.5 16 10 21 10 32
20211-30-12 M30X1.5 20 12 22 11 36
20211-33-14 M33X2 22 14 21.5 13 41
20211-36-12T M36X2 20 12 24 13 41
20211-36-14T M36X2 22 14 24 13 41
20211-39-16T M39X2 25 16 25 13 46
20211-42-20W M42X2 32 20 25 15 50
20211-45-20T M45X2 32 20 27 15 55
20211-52-24T M52X2 40 24 27 17 60
20211-60-28T M60X2 45 28 26 20 70
20211-64-32T M64X2 50 32 26 23 75
B LSRR IR - 2 T AR 20212-xkexx ¢
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES

HOSE FITTINGS SERIES NUMBER IS 20212-XX-XX.

b

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

15


http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

4507 PP
45° METRIC lﬁEMALE FLAT SEAT
e BV E S R

S e A C H S2

20241-14-04 M14X1.5 6 04 38 8.5 19 19
20241-14-05 M14X1.5 8 05 42.7 8.5 19.3 19
20241-16-05 M16X1.5 8 05 42.3 8.5 20.7 22
20241-18-06 M18X1.5 10 06 45.5 8 22 24
20241-22-08 M22X1.5 12 08 57.5 10 245 27
20241-27-10T M27X1.5 16 10 58 10 24.5 32
20241-30-12T M30X1.5 20 12 74 11 30 36
20241-36-12T M36X2 20 12 75 13 27.5 41
20241-36-14T M36X2 22 14 77.3 13 27 41
20241-36-16 M36X2 25 16 85.7 13 31.5 41
20241-39-16T M39X2 25 16 82 13 30 46
20241-42-20W M42X2 32 20 95.9 15 35.2 50
20241-45-20T M45X2 32 20 94.5 15 35.5 55
20241-52-20T M52X2 32 20 94.5 17 33.8 60
20241-52-24T M52X2 40 24 105 17 38.5 60
20241-60-28T M60X2 45 28 118.7 20 43.6 70
20241-62-32T M64X2 50 32 127.8 23 45.6 75

B LR RO T 2 0T AU
NOTE : 1. FOR USE WITH BRAIDED HOSES
HOSE FITTINGS SERIES NUMBER IS 20242-XX-XX.

2.

Yo 20242-xx-XX °

IF USE WITH SPIRAL HOSES |,

LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com

Tel/Fax:+86-(0)532-68985669

16


http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

90° 7 [ |BZP 7 [

90° METRIC FEMALE FLAT SEAT

20291
R fBzr E B R
NN (e, A C H S2
20291-12-02 M12X1.25 4 02 26.5 8 30.5 17
20291-12-04 M12X1.25 6 04 30 8 33.5 17
20291-14-04 M14X1.5 6 04 27.5 8.5 34 19
20291-14-05 M14X1.5 8 05 33 8.5 37 19
20291-16-04 M16X1.5 6 04 30 8 35 22
20291-16-05 M16X1.5 8 05 31 8 39.5 22
20291-16-06 M16X1.5 10 06 353 8 40.3 22
20291-18-05T M18X1.5 8 05 33 8 39 24
20291-18-06 M18X1.5 10 06 33 8 42 24
20291-22-08 M22X1.5 12 08 42.5 10 49.5 27
20291-22-10 M22X1.5 16 10 57.5 10 53 27
20291-24-08T M24X1.5 12 08 41 11 45.5 30
20291-27-04T M27X1.5 6 04 30 10 35.5 32
20291-27-08T M27X1.5 12 08 41 10 46 32
20291-27-10T M27X1.5 16 10 48.5 10 51.5 32
20291-30-12 M30X1.5 20 12 50.5 11 63.5 36
20291-33-14 M33X2 22 14 71.2 13 65 41
20291-36-14T M36X2 22 14 57.5 13 64 41
20291-36-16 M36X2 25 16 66 13 76.5 41
20291-39-16T M39X2 25 16 66 13 72.5 46
20291-42-20W M42X2 32 20 91.5 15 80.5 50
20291-45-20T M45X2 32 20 75 15 85 55
20291-52-20T M52X2 32 20 91.5 17 78.5 60
20291-52-24T M52X2 40 24 89 17 97 60
20291-60-28T M60X2 45 28 119.9 20 106.5 70
20291-64-32T M64X2 50 32 130.95 23 113.3 75
B LR P R e 20 ORI AT 20292xexx ¢
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,

HOSE FITTINGS SERIES NUMBER IS 20292-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

17


http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

A

T 10411
AT I i i Tt rzr—s
i< S— SR 2007
. ISO 8434-1-DIN 3861
. METRIC MALE 24°CONE SEAT L.T.
e et E W Rl R R

AEPE | OEOH A C $2
10411-12-04 MI12X1.5 6 04 22 10 12
10411-14-04 M14X1.5 6 04 22 10 14
10411-14-05 M14X1.5 8 05 22 10 14
10411-16-04 M16X1.5 6 04 10 23.5 11 17
10411-16-05 M16X1.5 8 05 10 23.5 11 17
10411-16-06 M16X1.5 10 06 10 23.5 11 17
10411-18-05 M18X1.5 8 05 12 24 11 19
10411-18-06 M18X1.5 10 06 12 24 11 19
10411-22-06 M22X1.5 10 06 15 26.5 12 24
10411-22-08 M22X1.5 12 08 15 27 12 24
10411-26-08 M26X1.5 12 08 18 28.5 12 27
10411-26-10 M26X1.5 16 10 18 29.5 12 27
10411-27-10 M27X1.5 16 10 18 32.5 14 30
10411-30-10 M30X2 16 10 22 33.5 14 32
10411-30-12 M30X2 20 12 22 33.5 14 32
10411-36-16 M36X2 25 16 28 36 14 38
10411-45-20 M45X2 32 20 35 40 16 46
10411-52-24 M52X2 40 24 42 43 16 55

B LA T G e 2 DR A

NOTE : 1. FOR USE WITH BRAIDED HOSES
HOSE FITTINGS SERIES NUMBER IS 10412-XX-XX.

2.

Yo 10412-XX-XX ©
IF USE WITH SPIRAL HOSES

>

LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com

Tel/Fax:+86-(0)532-68985669

18


http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

r‘f% Z»J 2 /”J
i 4 IO - IPEe 24357 O Wil
W : ISO 2151-2-DIN 3865

METRIC FEMALE 24° CONE O-RING L.T.

20411 20411-T
R BizY E L WIGE | 0 M A
S (EI ! A C S2
20411-12-04 M12X1.5 6 04 6 004.5X1.5 25 1 17
20411-14-04 M14X1.5 6 04 8 006.5X1.5 26.5 2 19
20411-14-06 M14X1.5 10 06 8 006.5X1.5 27.5 2 19
20411-16-04 M16X1.5 6 04 10 008.0X1.5 27 2 22
20411-16-05 M16X1.5 8 05 10 008.0X1.5 27 2 22
20411-16-06 M16X1.5 10 06 10 008.0X1.5 28 2 22
20411-18-05T M18X1.5 8 05 12 010.0X1.5 25.5 1.5 22
20411-18-06 M18X1.5 10 06 12 010.0X1.5 29 2.5 24
20411-18-08 M18X1.5 12 08 12 010.0X1.5 29.5 2.5 24
20411-22-05T M22X1.5 8 05 15 012.0X2 26.5 3 27
20411-22-06T M22X1.5 10 06 15 012.0X2 28.5 3 27
20411-22-08 M22X1.5 12 08 15 012.0X2 32.5 2.5 27
20411-26-10 M26X1.5 16 10 18 015.0X2 34.5 2.5 32
20411-26-12 M26X1.5 20 12 18 015.0X2 34.5 2.5 32
20411-30-10T M30X2 16 10 22 020.0X2 33 38 36
20411-30-12 M30X2 20 12 22 020.0X2 36.5 4 36
20411-36-12T M36X2 20 12 28 026.0X2 36 4.5 46
20411-36-14T M36X2 22 14 28 026.0X2 36.5 4.5 46
20411-45-16T M45X2 25 16 35 032.0X2 42 4 55
20411-45-20T M45X2 32 20 35 032.0X2 43 4 55
20411-52-20T M52X2 32 20 42 038.0X2 44.5 4 60
20411-52-24T M52X2 40 24 42 038.0X2 44.5 4 60
B LERRR AT EG e 2 WP AR 20412k
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 20412-XX-XX.

19
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

A C A

[
e S P T VA R P T

-J.JLIHHUU_LJ

e
20411C-T 20411C

SRR 249K ]
METRIC FEMALE MULTISEAL 24° CONE L.T.

ST Wzt E f T o

AeE | R H A C 52
20411C-12-04 MI12X1.5 6 04 6 19.5 3.5 17
20411C-14-04 M14X1.5 6 04 8 20.5 3.5 19
20411C-16-04 M16X1.5 6 04 10 21 3.5 22
20411C-16-05 M16X1.5 8 05 10 21 3.5 22
20411C-16-06 M16X1.5 10 06 10 21 3.5 22
20411C-18-06 M18X1.5 10 06 12 22.5 3 24
20411C-22-06T M22X1.5 10 06 15 23.5 4.5 27
20411C-22-08 M22X1.5 12 08 15 24 4.5 27
20411C-26-10 M26X1.5 16 10 18 27 4 32
20411C-30-10T M30X2 16 10 22 26.5 7 36
20411C-30-12 M30X2 20 12 22 27 7 36
20411C-30-14 M30X2 22 14 22 27 7 36
20411C-36-16 M36X2 25 16 28 29 6.5 41
20411C-45-20T M45X2 32 20 35 33 7 55
20411C-52-24T M52X2 40 24 42 34 8 60

E LSRR AT SRy - 20 ORI SR T 20412C00xc
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 20412C-XX-XX.

20
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

20441-T

45° I HHEY 24°5E O Wt
ISO 12151-2-DIN 3865
45° METRIC FEMALE 24° CONE L.T.

T Y E i FHE | O M N

SEE | OFOE A C H S2
20441-12-04 M14X1.5 6 04 8 006.5X1.5 | 45 2 26 | 19
20441-16-05 M16X1.5 8 05 10 008.0X1.5 | 49.5 2 | 278 | 22
20441-16-06 M16X1.5 10 06 10 008.0X1.5 | 51.3 2 | 278 | 22
20441-18-05T M18X1.5 8 05 12 010.0X1.5 | 44.7 | 15 | 232 | 22
20441-18-06 M18X1.5 10 06 12 010.0X1.5 | 53 25 | 29 | 24
20441-22-05T M22X1.5 8 05 15 012.0X2 3 27
20441-22-06T M22X1.5 10 06 15 012.0X2 49 3 | 253 | 27
20441-22-08 M22X1.5 12 08 15 012.0X2 | 665 | 25 | 34 | 27
20441-26-08T M26X1.5 12 08 18 015.0X2 61 2.1 | 28 | 32
20441-26-10 M26X1.5 16 10 18 015.0X2 70 25 | 36 | 32
20441-26-12 M26X1.5 20 12 18 015.0X2 2.5 32
20441-30-10T M30X1.5 16 10 22 020.0X2 64 3.8 | 30 | 36
20441-30-12 M30X1.5 20 12 22 020.0X2 | 84.5 4 | 405 | 36
20441-36-12T M36X1.5 20 12 28 028.0X2 | 79.3 | 45 | 355 | 46
20441-36-14T M36X2 22 14 28 028.0X2 4.5 46
20441-45-20T M45X2 32 20 35 0350X2 | 101.8 | 4 | 424 | 55
20441-52-20T M52X2 32 20 42 042.0X2 4 | 46.6 | 60
20441-52-24T M52X2 40 24 4 042.0X2 113 4 60

El M s | ‘kJ‘Wﬁ e 2 i/[lﬁfT“ ELES SRS Yo 20412-XX-XX ©
NOTE : 1. FOR USE WITH BRAIDED HOSES2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 20412-XX-XX.

21
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

20491-T

90° illl iRz 2495 O TRt
ISO 12151-2—DIN 3865
90° METRIC FEMALE 24° CONE O-RING

RIS e . F HhE | O M o

0L, = F A C H S2

20491-12-03 M12X1.5 5 03 6 004.5X1.5 | 25.6 1 34.5 17
20491-12-04 MI12X1.5 6 04 6 004.5X1.5 | 27.5 1 43 17
20491-14-04 M14X1.5 6 04 8 006.5X1.5 | 27.5 2 44.5 19
20491-16-04 | MI6XLS5 6 04 10 [ oosoxts | 275 | 2 | 45 | 2
20491-16-05 M16X1.5 8 05 10 008.0X1.5 31 2 49.5 22
20491-16-06 | MI6XLS5 10 06 10 | oogoxts | 33 | 2 | 505 | 22
20491-18-05T M18X1.5 8 05 12 010.0X1.5 31 1.5 43 22
20491-18-06 MI18X1.5 10 06 12 010.0X1.5 33 2.5 52.5 24
20491-22-06T M22X1.5 10 06 15 012.0X2.0 33 3 47 27
20491-22-08 M22X1.5 12 08 15 012.0X2.0 | 42.5 2.5 62.5 27
20491-26-08T M26X1.5 12 08 18 015.0X2.0 | 42.5 2.1 54.5 32
20491-26-10 M26X1.5 16 10 18 015.0X2.0 | 48.5 2.5 68 32
20491-26-12 M26X1.5 20 12 18 015.0X2.0 | 50.5 2.5 76 32
20491-30-10T M30X2 16 10 22 020.0X2.0 | 48.5 3.8 59.5 36
20491-30-12 M30X2 20 12 22 020.0X2.0 | 50.5 4 78 36
20491-36-12T M36X2 20 12 28 026.0X2.0 | 50.5 4.5 71 46
20491-36-14T M36X2 22 14 28 026.0X2.0 4.5 46
20491-45-16T M45X2 25 16 35 032.0X2.5 66 4 83 55
20491-45-20T M45X2 32 20 35 032.0X2.5 75 4 95 55
20491-52-20T M52X2 32 20 42 038.0X2.5 75 4 96.5 60
20491-52-24T M52X2 40 24 42 038.0X2.5 89 4 108.5 60

Er LR PSRRI AR e 20 AT SR 204922xxxx ¢
NOTE : 1. FOR USE WITH BRAIDED HOSES2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 20492XX-XX.

22
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

90° I REY 24° FEIE

=3l
90°METRIC FEMALE 24°
CONE MULTISEAL L.T.
20491C 20491C-T
ST B A A9 S
NEE | OF OB A C H S2
20491C-14-04 M14X1.5 6 04 8 30 3.5 39.5 19
20491C-16-04 M16X1.5 6 04 10 30 35 40 22
20491C-16-05 M16X1.5 8 05 10 33 3.5 43 22
20491C-16-06 M16X1.5 10 06 10 35.25 35 452 22
20491C-18-06 M18X1.5 10 06 12 35.25 3 47.25 24
20491C-22-08 M22X1.5 12 08 15 41 4.5 53 27
20491C-26-10 M26X1.5 16 10 18 56.5 4 60 32
20491C-30-12 M30X2 20 12 22 65.5 7 38.5 36
20491C-36-12T M36X2 20 12 28 65.5 6.5 67.5 41
LR AT . 20 IR AT Y 20491 Conconx -
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES ,
HOSE FITTINGS SERIES NUMBER IS 20492C-XX-XX.

23
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

F#7 . HOSE FITTING

f-hﬁﬂm”ﬂb

SHIHEREY 247 [ R E ST

METRIC MALE 24° CONE SEAT H.T.

10511

ISO-84341—DIN 3861

RIS Hzv E A IR S

SEME R OH A C S1
10511-14-04 M14X1.5 04 24 | 12 | 14
10511-16-04 M16X1.5 04 25 | 12 | 17
10511-18-04 MI18X1.5 04 10 25 | 12 | 19
10511-20-05 M20X1.5 05 12 26 | 12 | 22
10511-20-06 M20X1.5 10 06 12 26 | 12 | 22
10511-22-05 M22X1.5 8 05 14 285 | 14 | 24
10511-22-06 M22X1.5 10 06 14 285 | 14 | 24
10511-22-08 M22X1.5 12 08 14 29 | 14 | 24
10511-24-08 M24X1.5 12 08 16 30 | 14 | 27
10511-30-10 M30X2 16 10 20 355 | 16 | 32
10511-30-12 M30X2 20 12 20 355 | 16 | 32
10511-36-12 M36X2 20 12 25 385 | 18 | 38
10511-36-16 M36X2 25 16 25 40 | 18 | 38
10511-42-16 M42X2 25 16 30 43 | 20 | 46
10511-42-20 M42X2 32 20 30 44 | 20 | 46
10511-52-20 M52X2 32 20 38 48 | 22 | 55

Fro LSRR P SV -

NOTE : 1.

2. U AR
FOR USE WITH BRAIDED HOSES

HOSE FITTINGS SERIES NUMBER IS 10512-XX-XX.

2.

Y 20512-XX-XX °

IF USE WITH SPIRAL HOSES

b

LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com

Tel/Fax:+86-(0)532-68985669

24


http://www.lomoflex.com
mailto:info@lomoflex.com

7.  HOSE FITTING

1 5]

H%‘ MLW %iﬁ" Aw (ﬁ;ﬂL/%E:WM“’J
. . i
H_E—UMUUUULL - ISO{ 1512 DIN 386

METRIC FEMALE 24° CONE

O-RING H.T.
20511 20511-T
SIS fEizv E L FHE | O e N

SEE R F A C | si

20511-14-04 MI6X1.5 6 04 6 004.5X15 | 274 | 1.5 | 19
20511-16-04 MI6X1.5 6 04 8 006.5X1.5 | 275 | 1.5 | 22
20511-16-05 MI6X1.5 8 05 8 006.5X1.5 | 275 | 1.5 | 22
20511-18-04T M18X1.5 6 04 10 008.0X1.5 | 26 | 1.5 | 22
20511-18-06 MISX1.5 10 06 10 008.0X1.5 | 295 | 2 | 24
20511-20-06T M20X1.5 10 06 12 010.0X1.5 | 27.5 | 2.5 | 24
20511-20-08 M20X1.5 12 08 12 010.0X1.5 | 315 | 2.5 | 27
20511-22-06T M22X1.5 10 06 14 011.0X2.0 | 285 | 3 | 27
20511-22-08 M22X1.5 12 08 14 011.0X2.0 | 32.5 | 2.5 | 27
20511-24-06T M24X1.5 10 06 16 013.0X20 | 27 | 3 | 30
20511-24-08T M24X1.5 12 08 16 013.0X20 | 30 | 3 | 30
20511-30-10T M30X2 16 10 20 0163X24 | 335 | 2.5 | 36
20511-30-12 M30X2 20 12 20 0163X24 | 37 | 3 | 36
20511-36-12T M36X2 20 12 25 0203X2.4 | 37 |32 | 46
20511-36-14T M36X2 22 14 25 0203X2.4 | 37 |32 | 46
20511-42-12T M42X2 20 12 30 0253X24 | 375 | 3.9 | 50
20511-42-16T M42X2 25 16 30 0253X24 | 41 |39 50
20511-52-20T M52X2 32 20 38 0333X24 | 44 | 45| 60
20511-52-24T M52X2 40 24 38 0333X24 | 44 | 45 | 60

e MU b k| ‘tJ‘E'Zﬁ e 2. i/['PQT“ ELIE S i AR Y 20512-XX-XX °

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,

HOSE FITTINGS SERIES NUMBER [520512-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

A7 HOSE FITTING

20511C  20511C-T
S R 247 EENTIEE Y
METRIC FEMALE 24° MULTISEAL

H.T.
SIS (B B & A9 S
AFE | OFEH A c | &2
20511C-18-04T M18X1.5 6 04 10 21 3 22
20511C-20-05T M20X1.5 8 05 12 21.5 4.5 24
20511C-20-06T M20X1.5 10 06 12 21.5 4.5 24
20511C-22-06T M22X1.5 10 06 14 21.5 4.5 27
20511C-24-08T M24X1.5 12 08 16 23 5 30
20511C-30-10T M30X2 16 10 20 26.5 7 36
20511C-36-12T M36X2 20 12 25 27 6.5 41
20511C-42-16T M42X2 25 16 30 29.5 9 50
20511C-52-20T M52X2 32 20 38 34 8 60
LSRR P GG e 2 IR SEERATESE Y 20512Ck0xx ¢
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES ,

HOSE FITTINGS SERIES NUMBER [S20512C-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

45° LY
u4° O g )
ISO 12151-2-DIN
45°METRIC FEMALE
24°CONE O-RING H.T.

20541 20541-T
o e W W | O M N A

SEMNE | R OH A C H )
20541-14-04 | MI6X15 6 04 6 004.5X15 | 46 | 15 | 27 | 19
20541-16-04 | MI6X1.5 6 04 8 006.5X1.5 | 46 | 15 | 27 | 22
20541-16-05 | MI6X1.5 8 05 8 006.5X1.5 | 495 | 1.5 | 281 | 22
20541-18-04T | MI8X1.5 6 04 10 | 008.0Xx15 | 415 | 15 | 225 | 22
20541-18-06 | MI8X1.5 10 06 10 | 008.0x15 | 53 | 2 | 205 | 24
20541-20-06T | M20X1.5 10 06 12 | O100X1.5 | 485 | 25 | 25 | 24
20541-20-08 | M20X1.5 12 08 12 | 0100x15 | 659 | 25 | 33 | 27
20541-22-06T | M22X1.5 10 06 14 | o110x20 | 489 | 3 | 253 | 27
20541-22-08 | M22X1.5 12 08 14 | 011.0x20 | 665 | 25 | 34 | 27
20541-24-08T | M24X1.5 12 08 16 | 013.0X20 | 613 | 3 | 285 | 30
20541-30-10T |  M30X2 16 10 20 | 0163X24 | 645 | 25 | 308 | 36
20541-30-12 |  M30X2 20 12 20 | 0163X24 | 845 | 3 | 41 | 36
20541-36-12T M36X2 20 12 25 020.3X2.4 80 3.2 36 46
20541-36-14T |  M36X2 22 14 25 | 0203X24 3.2 46
20541-42-16T |  M42X2 25 16 30 | 0253X24 | 894 | 39 | 375 | 50
20541-52-20T | MS52X2 32 20 38 | 0333x24 | 102 | 45 | 428 | 60
20541-52-24T | MS52X2 40 24 38 | 0333x24 4.5 60

ES B s S N TE L (N TS i/[lﬁf'lj ELES S RS Y7 20542-XX-XX °
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER 1520542-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

27


http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

20541C 20541C-T
45° Nl HEEY 24° SREE DIN3S6S
45° METRIC FEMALE 24° MULTISEAL H.T.

R Bzt E il i A9t i £l <
SENE O OH A C H S2

20541C-16-04 M16X1.5 6 04 8 44.8 3 22.7 19
20541C-18-04T M18X1.5 6 04 10 43.7 3 21.6 22
20541C-20-06T M20X1.5 10 06 12 48.9 4.5 24.6 24
20541C-24-08T M24X1.5 12 08 16 61.4 2.5 26.5 30
ES Nl SR N TR T 2 ﬂ['ﬁTE‘Jj R Yo 20542CXX-XX ©
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER [820542C-XX-XX.

28
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

2 ﬁimx:&mxﬁ
A

HEETy
L

90° iz
P A

24° Fiy

I

ISO 12li 51-2-DIN 3865

i - 90°METRIC FEMALE 24°CONE
O-RING H.T.
20591-T
Fw N
~ E[E,'[?@’ E 7 ;-ﬁ\[LJI:Sé = :El?{ It % o M A C H S
2

20591-14-04 M16X1.5 6 04 004.5X1.5 275 | 15 | 454 19
20591-16-04 M16X1.5 6 04 006.5X1.5 275 | 1.5 | 455 | 22
20591-16-05 M16X1.5 8 05 006.5X1.5 31 1.5 50 22
20591-18-05T M18X1.5 8 05 10 008.0X1.5 31 1.5 | 435 | 22
20591-18-06 M18X1.5 10 06 10 008.0X1.5 33 2 53 24
20591-20-06T M20X1.5 10 06 12 010.0X1.5 33 25 | 465 | 24
20591-20-08 M20X1.5 12 08 12 010.0X1.5 425 | 25| 615 | 27
20591-22-06T M22X1.5 10 06 14 011.0X2.0 33 3 47 27
20591-22-08 M22X1.5 12 08 14 O11.0X2.0 | 425 | 25 | 625 | 27
20591-24-08T M24X1.5 12 08 16 013.0X2.0 | 42.5 3 55 30
20591-24-10 M24X1.5 16 10 16 013.0X2.0 | 485 | 25 68 30
20591-30-10T M30X2 16 10 20 0163X2.4 | 485 | 2.5 | 60.5 | 36
20591-30-12 M30X2 20 12 20 016.3X2.4 50.5 3| 785 | 36
20591-36-12T M36X2 20 12 25 020.3X2.4 | 50.5 | 3.2 72 46
20591-36-14T M36X2 22 14 25 020.3X2.4 57.5 | 3.2 74 46
20591-42-16T M42X2 25 16 30 025.3X2.4 66 3.9 83 50
20591-52-20T M52X2 32 20 38 033.3X2.4 75 45 | 955 | 60
20591-52-24T M52X2 40 24 38 033.3X2.4 93 4.5 | 107.5 | 60

P LR SR R -

2 AT RO
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 20592-XX-XX.

Yo 20592-XX-XX ©

LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com

Tel/Fax:+86-(0)532-68985669

29



http://www.lomoflex.com
mailto:info@lomoflex.com

v ). HOSE FITTING

20591C 20591C-T
J RV 24° ZRErE )
JETRIC FEMALE 24°
MULTISEAL H.T.
R BB E RS TR o
SEE | Ff A |c H |s2
20591C-16-04 M16X1.5 6 04 8 30 3 40 22
20591C-18-04T M18X1.5 6 04 10 30 38.5 22
20591C-20-05T M20X1.5 8 05 12 33 4.5 42 24
20591C-20-06T M20X1.5 10 06 12 353 4.5 45.7 24
20591C-22-06T M22X1.5 10 06 14 353 4.5 447 27
20591C-24-08T M24X1.5 12 08 16 41 5 52 30
20591C-30-10T M30X2 16 10 20 56.5 7 56.5 36
20591C-36-12T M36X2 20 12 25 65.5 6.5 66.5 41
20591C-42-16T M42X2 25 16 30 78 73.5 50
20591C-52-20T M52X2 32 20 38 93 87.5 60
e M bk ‘tJ‘E'Zﬁ e 2. i/['PQT“ ELIE S i AR Y 20592C-xx-XX ©
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES ,
HOSE FITTINGS SERIES NUMBER 1S20592C-XX-XX.

LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com

Tel/Fax:+86-(0)532-68985669

30


http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

A
s
S| [T ‘ RRISHREY 60° ISRy -+ g
© - AN 0 N =) RSP BN
METRIC MALE DOUBLE USE FOR 60°
10611
P o R N
SEE | B A 1
10611-14-04 M14X1.5 6 04 235 | 11 | 19
10611-14-06 M14X1.5 10 06 25 | 11 | 19
10611-16-04 M16X1.5 6 04 27.5 12 22
10611-16-05 MI6X1.5 8 05 275 | 12 | 22
10611-18-06 MI8X1.5 10 06 295 | 12 | 24
10611-22-06 M22X1.5 10 06 305 | 14 | 27
10611-22-08 M22X1.5 12 08 31 14 27
10611-24-10 M24X1.5 16 10 35 | 14 | 30
10611-26-10 M26X1.5 16 10 35 | 16 | 32
10611-27-10D M27X1.5 16 10 35 | 16 | 32
10611-27-10 M27X1.5 16 10 37 | 18 | 32
10611-30-12D M30X2 20 12 38 | 18 | 36
10611-30-12 M30X2 20 12 38 | 18 | 36
10611-33-16 M33X2 25 16 5 | 20 | 46
10611-42-20 M42X2 32 20 46 20 50
10611-45-20 M45X2 32 20 46 | 20 | 55
10611-48-24 M48X2 40 24 46 20 55
10611-52-24 M52X2 40 24 46 | 20 | 60
D U e | "H‘Wﬁ e 2. i/[l[%:“ "'Hp‘flﬁ iR Y 10612xX-XX ©
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES

HOSE FITTINGS SERIES NUMBER IS 10612-XX-XX.

b

LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com

Tel/Fax:+86-(0)532-68985669

31


http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

) =
B ﬁu% [|iEEY 60 °

WUUUM V| N 0001
\_\\.sz 4@ METRIC FEMALE 60°CONE

20611 20611-T
~H izt E o N
SR | R Al ¢ | =2
20611-14-04 M14X1.5 6 04 19 5.5 19
20611-16-05 M16X1.5 8 05 19.5 5.5 22
20611-16-06 M16X1.5 10 06 19 5.5 22
20611-18-06 M18X1.5 10 06 21 5.5 24
20611-20-08 M20X1.5 12 08 22 6.5 27
20611-22-08 M22X1.5 12 08 23.5 6 27
20611-24-10 M24X1.5 16 10 245 6.5 30
20611-26-10 M26X1.5 16 10 25 6 32
20611-27-10DT M27X1.5 16 10 25.5 6 32
20611-27-10T M27X1.5 16 10 25.5 6 32
20611-30-10D M30X2 16 10 26.5 6 36
20611-30-12D M30X2 20 12 26.5 6 36
20611-30-12 M30X2 20 12 27 6 36
20611-36-16 M36X2 25 16 30 6.5 41
20611-39-16T M39X2 25 16 30 6.5 46
20611-45-20T M45X2 32 20 31 8.5 55
20611-52-24T M52X2 40 24 32 10 60
E LR R e 20 P AERERTENE Y 20612-xxexx ¢
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,

HOSE FITTINGS SERIES NUMBER 1520612-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

90° I EE 60° It
90°METRIC FEMALE 60°CONE

20691 20691-T
o lEr E B W A
AR | OFOH Al c [ H | s
20611-14-04 M14X1.5 6 04 27.5 5.5 37 19
20611-16-05 M16X1.5 8 05 31 5.5 42 22
20611-18-06 MI8X1.5 10 06 33 5.5 44.5 24
20611-22-08 M22X1.5 12 08 42.5 6 53.5 27
20611-27-10DT M27X1.5 16 10 56 6 55 32
20611-30-12D M30X2 20 12 66.2 6 68.5 36
20611-36-16 M36X2 25 16 78 6.5 76.5 41
20611-36-14T M36X2 22 14 71.2 6.5 67.5 41
20611-39-16T M39X2 25 16 76.7 6.5 74 46
20611-45-20T M45X2 32 20 91.5 8.5 85 55
20611-52-24T M52X2 40 24 109.4 10 99 60
B LR AT R - 2 T SRR 20692-xkexx -
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES ,

HOSE FITTINGS SERIES NUMBER [520692-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

A

mgl\u

10711

AU A ol 2 9 e 74° 9 s
81 METRIC MALE 74°CONE
S fBzr E B S
cEpyE | E B Al c | s
10711-10-02 M10X1 4 02 23 | 125 | 14
10711-10-03 M10X1 5 03 23 | 125 | 14
10711-12-03 M12X1.5 5 03 265 | 157 | 14
10711-12-03C M12X1.25 5 03 245 | 14 14
10711-14-04 M14X1.5 6 04 305 | 18 17
10711-14-06 M14X1.5 10 06 305 | 18 17
10711-16-05 M16X1.5 8 05 315 | 19 17
10711-16-06 M16X1.5 10 06 315 | 19 | 17
10711-18-06 MI8X1.5 10 06 32 19 19
10711-22-08 M22X1.5 12 08 345 | 195 | 24
10711-24-08 M24X1.5 12 08 365 | 20 | 27
10711-27-10 M27X1.5 16 10 39 | 205 | 30
10711-30-12 M30X2 20 12 425 23 | »
10711-30-12E M30X2 20 12 455 | 26 | 3
10711-33-12 M33X2 20 12 465 | 26 | 36
10711-36-14 M36X2 22 14 47 | 26 | 38
10711-39-16 M39X2 25 16 50 | 27.5 | 41
10711-42-20 M42X2 32 20 525 | 285 | 46
10711-45-20 M45X2 32 20 525 | 285 | 46
(S Bl uct ind SR = TR G S i/['PgT“ HZREE ) 7 10712-xx-xx ©
NOTE : 1. FOR USE WITH BRAIDED HOSES IF USE WITH SPIRAL HOSES |,
HOSE FITTINGS SERIES NUMBER IS10712-XX-XX.
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

lﬁ dr#F 4. HOSE FITTING

\\ ey
Em

I-II'*

C A

4"
T'_E_'
7

B8 2 T

[

fglzy 74° [
METRIC FEMALE 74°CONE SEAT

20711 20711-T
! fBzv E B R
SEE A H A C S2
20711-10-02 M10X1 4 02 14 | 75 14
20711-12-03C M12X1.25 5 03 14 9 17
20711-12-03 MI12X1.5 5 03 14 10 17
20711-12-04 MI12X1.5 6 04 15 10 17
20711-14-04 M14X1.5 6 04 16 | 85 19
20711-14-05 M14X1.5 8 05 155 | 85 19
20711-14-06 M14X1.5 10 06 155 | 85 19
20711-16-04 M16X1.5 6 04 16.5 8 22
20711-16-05 M16X1.5 8 05 17 8 22
20711-16-06 M16X1.5 10 06 16 8 22
20711-18-05T MI18X1.5 8 05 16 8 22
20711-18-06 MI18X1.5 10 06 18.5 | 10 24
20711-20-06T M20X1.5 10 06 16 10 24
20711-20-08 M20X1.5 12 08 185 | 10 27
20711-22-06T M22X1.5 10 06 16 10 27
20711-22-08 M22X1.5 12 08 195 | 10 27
20711-22-10 M22X1.5 16 10 19 10 27
20711-24-08T M24X1.5 12 08 165 | 11 30
20711-27-08T M27X1.5 12 08 18.5 | 11 32
20711-27-10T M27X1.5 16 10 21 11 32
20711-27-12 M27X1.5 20 12 215 | 11 32
20711-30-10T M30X1.5 16 10 18 11 36
20711-30-12 M30X1.5 20 12 22 11 36
20711-33-10T M33X2 16 10 195 | 13 41
20711-33-12T M33X2 20 12 20 13 41
20711-33-14 M33X2 22 14 21,5 | 13 41
20711-36-12T M36X2 20 12 20 14 41
20711-36-14T M36X2 22 14 24 14 41
20711-36-16 M36X2 25 16 23 14 41
20711-39-16T M39X2 25 16 25 14 46
20711-42-16T M42X2 25 16 235 | 15 50
20711-42-20W M42X2 32 20 245 | 15 50
20711-45-20T M45X2 32 20 27 15 55
20711-52-24T M52X2 40 24 27 17 60
D U e | ‘tJ‘Wﬁ e 2. i/['PQT“ ELIE S i AR Y 20712-XX-XX °
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES

HOSE FITTINGS SERIES NUMBER IS 20712-XX-XX.

b

LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com

Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

20741
45° =~ TF PEZV 74° M e
45°METRIC ILEMALE 74°CONE SEAT

B N
R LS AR BB A C H s2
20741-14-04 M14X1.5 6 04 38 8.5 19 19
20741-16-05 M16X1.5 8 05 43 8 20.7 22
20741-18-06 MI8X1.5 10 06 45.5 10 22 24
20741-22-08 M22X1.5 12 08 57.5 10 24.5 27
20741-27-10 M27X1.5 16 10 60 11 26.5 32
20741-30-12 M30X1.5 20 12 74 11 30 36
20741-33-12 M33X2 20 12 77.4 13 30 41
20741-33-16 M33X2 25 16 85 13 30.8 41
20741-36-14 M36X2 22 14 79.8 14 29.6 4
20741-36-16 M36X2 25 16 85.7 14 31.5 41
20741-39-16 M39X2 25 16 85 14 33 46
20741-45-20W M45X2 32 20 97 15 36.2 55
20741-52-24W M52X2 40 24 115.3 17 40.9 60

El M s | ‘ﬁJ‘Wﬁ e 2 i/[lﬁT“ e e d Yo 20742-XX-XX °
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 20742-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

20791
90° [ 2~ fhll[* R 747 ['EER
90°METRIC FEMALE 74°CONE SEAT

[ N
o L2 AE = § A C H 82
%

20791-12-04C M12X1.25 6 04 30 9 33.5 17
20791-12-04 MI12X1.5 6 04 30 10 33.5 17
20791-14-04 M14X1.5 6 04 275 8.5 34 19
20791-16-04 M16X1.5 6 04 30 8 35 22
20791-16-05 MI16X1.5 8 05 31 8 39.5 22
20791-18-06 MI8X1.5 10 06 33 10 42 24
20791-22-08 M22X1.5 12 08 42.5 10 49.5 27
20791-22-10 M22X1.5 16 10 56 10 | 525 27
20791-27-10 M27X1.5 16 10 48.5 11 54.5 32
20791-30-12 M30X1.5 20 12 50.5 11| 635 36
20791-33-12 M33X2 20 12 65.5 13 63.5 41
20791-33-16 M33X2 25 16 66 13 75.5 41
20791-36-12 M36X2 20 12 655 | 124 | 635 41
20791-36-14 M36X2 22 14 71.2 14 64.5 41
20791-39-16 M39X2 25 16 66 14 76.5 46
20791-45-20W M45X2 32 20 91.5 15 83 55
20791-52-20W M52X2 32 20 93 17 84.5 60
20791-52-24W M52X1.5 40 24 110.7 17 96.5 60

P LRI R e 2 DT AT 20792xxexx -
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 20792-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

37


http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

T 10811L
. LT % Al it i ;_\ ﬁ‘]”(ﬂ» EI‘EI/I:;W 90 ° <7+ %E-[
il I
METRIC MALE 90°CONE
O BV E R R
SER = OF A C H S2
10811L-12-04 MI12X1.5 6 04 46 34 17 17
10811L-12-04A M12X1 04 445 32.5 17 17
10811L-14-04 M14X1.5 04 46 34 17 19
10811L-14-06 M14X1.5 10 06 46.5 34 17 19
10811L-16-04 M16X1.5 6 04 46.5 34 19 22
10811L-16-06 M16X1.5 10 06 46.5 34 22 22
10811L-20-06 M20X1.5 10 06 57 40 27 27
10811L-20-08 M20X1.5 12 08 57.5 40 27 27
10811L-22-08 M22X1.5 12 08 62.5 45 27 27
38
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com

Tel/Fax:+86-(0)532-68985669


http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

A " o

[ [[Bhem o
P

METRIC FEMALE MULTISEAL

20111 20111-T

o [{E] W R
R E L A C S2

20111-10-03 M10X1 5 03 18 2.5 14
20111-10-04 M10X1 6 04 18 2.5 14
20111-12-04 M12X1.5 6 04 18.5 4 17
20111-12-05 M12X1.5 8 05 18.5 4 17
20111-14-04 M14X1.5 6 04 20 4.5 19
20111-14-05 M14X1.5 8 05 19.5 4.5 19
20111-16-04 M16X1.5 6 04 20.5 | 4.5 22
20111-16-05 M16X1.5 8 05 20.5 45 | 22
20111-16-06 M16X1.5 10 06 20 4.5 22
20111-18-05T M18X1.5 8 05 21.5 4 24
20111-18-06 M18X1.5 10 06 22.5 4 24
20111-18-08 M18X1.5 12 08 22 4 24
20111-20-06T M20X1.5 10 06 235 | 5.5 24
20111-20-08 M20X1.5 12 08 23 5.5 27
20111-22-06T M22X1.5 10 06 23 5 27
20111-22-08 M22X1.5 12 08 24.5 5 27
20111-22-10 M22X1.5 16 10 24.5 5 27
20111-24-08T M24X1.5 12 08 22 5.5 30
20111-24-10 M24X1.5 16 10 26 5 30
20111-27-08DT M27X1.5 12 08 23 5.5 32
20111-27-10DT M27X1.5 16 10 26 5.5 32
20111-27-12D M27X1.5 20 12 26 5.5 32
20111-27-10T M27X2 16 10 26 7 32
20111-30-12D M30X1.5 20 12 26.5 6 36
20111-30-12 M30X2 20 12 26 7 36
20111-36-12T M36X2 20 12 26 7 41
20111-36-14T M36X2 22 14 26 7 41
20111-39-14T M39X2 22 14 28.5 7 46
20111-39-16T M39X2 25 16 34 7 46
20111-42-16T M42X2 25 16 30 8.5 50
20111-45-20T M45X2 32 20 315 | 85 55
20111-52-20T M52X2 32 20 33 9 60
20111-52-24T M52X2 40 24 33 9 60
20111-64-32T M64X2 50 32 35 14 75

P LRI ST e 20 IR AR 20112000 0
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 20112-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

39


http://www.lomoflex.com
mailto:info@lomoflex.com

iﬁ*ﬁﬁ%i HOSE FITTING

45° I B ERE
45° METRIC FEMALE MULTISEAL

20141-T
R [{E) O N
SFER = OH A C H S2
20141-10-03 M10X1 5 03 41.1 2.5 20.7 14
20141-10-04 M10X1 6 04 43.2 2.5 21.5 14
20141-12-03 MI12X1.5 5 03 40.9 4 21.2 17
20141-12-04 M12X1.5 9 04 43 4 22 17
20141-14-04 M14X1.5 6 04 43.4 4.5 21.3 19
20141-14-05 M14X1.5 8 05 45.5 4.5 22.2 19
20141-16-04 M16X1.5 6 04 44.7 4.5 23.2 22
20141-16-05 M16X1.5 8 05 45.8 4.5 22.5 22
20141-16-06 M16X1.5 10 06 47.4 4.5 24.1 22
20141-18-05T M18X1.5 8 05 46.8 4 22.6 24
20141-18-06 MI18X1.5 10 06 48.5 4 24.2 24
20141-18-08 M18X1.5 12 08 52.2 4 25.7 24
20141-20-06T M20X1.5 10 06 48.2 5.5 23.9 27
20141-20-08 M20X1.5 12 08 62.1 5.5 27.2 27
20141-22-06T M22X1.5 10 06 58.4 5 25.7 27
20141-22-08 M22X1.5 12 08 62.1 5 27.2 27
20141-24-08T M24X1.5 12 08 61.1 5.5 26.1 30
20141-24-10 M24X1.5 16 10 75.4 5 29.6 30
20141-27-10DT M27X1.5 16 10 74.4 5.5 29.6 32
20141-27-10T M27X2 16 10 74.4 5.5 29.6 32
20141-30-12D M30X1.5 20 12 80.9 6 33.5 36
20141-30-12 M30X2 20 12 80.9 6 33.5 36
20141-36-14T M36X2 22 14 83 7 32.64 41
20141-39-16T M39X2 25 16 88.2 7 33.95 46
20141-45-20T M45X2 32 20 99.1 8.5 38.4 55
20141-52-24T M52X2 40 24 114.1 9 43.4 60
B L BRI e 2 IR SRR 2014200k ¢
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 20142-XX-XX.

40
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

90° -l [HREV SR

90° METRIC FEMALE MULTISEAL

20191 20191-T
A& R

I W=V B B # B A c | B | 2

B
20191-10-03 M10X1 '}‘ 5 03 27 2.5 35.5 14
20191-12-04 M12X1.5 6 04 30 4 37.5 17
20191-14-04 M14X1.5 6 04 27.5 4.5 38 19
20191-14-05 M14X1.5 8 05 33 4.5 41 19
20191-16-04 M16X1.5 6 04 27.5 4.5 38.5 19
20191-16-05 M16X1.5 8 05 31 4.5 43 22
20191-16-06 M16X1.5 10 06 353 4.5 43.8 22
20191-18-05T M18X1.5 8 05 31 4 43 24
20191-18-06 M18X1.5 10 06 353 4 453 24
20191-18-08 M18X1.5 12 08 40.5 4 50.5 24
20191-20-06T M20X1.5 10 06 353 5.5 43.8 24
20191-20-08 M20X1.5 12 08 41 5.5 52 27
20191-22-06T M22X1.5 10 06 35.8 5 76.8 27
20191-22-08 M22X1.5 12 08 42.5 5 54.5 27
20191-24-08T M24X1.5 12 08 41 55 51 30
20191-24-10 M24X1.5 16 10 58 5 58.5 30
20191-27-10DT M27X1.5 16 10 56 5.5 55.5 32
20191-27-10T M27X2 16 10 56 5.5 55.5 32
20191-30-12D M30X1.5 20 12 67.5 6 68.5 36
20191-30-12 M30X2 20 12 67.5 6 68.5 36
20191-36-12T M36X2 20 12 65.5 7 68 41
20191-36-14T M36X2 22 14 71.2 7 69 4
20191-39-16T M39X2 25 16 76.7 7 73.5 14
20191-45-20T M45X2 32 20 91.5 8.5 85 655
20191-52-24T M52X2 40 24 109.4 9 100 60
20191-64-32T M64X2 50 32 131.75 14 122.3 75

P LRI R e 2 WO AT 20192-xxexx -
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 20192-XX-XX.

41
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

il

*E?,—}%J\ HOSE FITTING

ERNETEIEEE T e
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

NUMBER IS 50012-XX-XX.

T AR

G A 50011
_H. N ﬁjﬂf—% R
B [N DIN2353
o =) METRIC STANDPIPE STRAIGHT
. e i N :
BB FHED T s T F B | A | C s
%
50011-06-03 6 5 03 28.5 20
50011-06-04 6 6 04 29 2
50011-10-05 10 8 05 31 23
50011-10-06 10 10 06 32 23
50011-12-06 12 10 06 325 23
50011-12-08 12 12 08 33 23
50011-15-06 15 10 06 355 25
50011-15-08 15 12 08 355 25 T
50011-18-08 18 12 08 36.5 26
50011-18-10 18 16 10 41 26
50011-22-10 2 16 10 44 28
50011-22-12 2 20 12 44 28
50011-22-16 2 25 16 46 28
50011-28-16 28 25 16 47 30
50011-35-20 35 32 20 56 36
50011-42-24 0 40 24 62 40
50011-08-04 8 6 04 31 24
50011-08-05 8 8 05 33 24
50011-08-06 8 10 06 33 24
50011-10-04 10 6 04 33 26
50011-12-04 12 6 04 345 26
50011-12-05 12 8 05 355 26
50011-14-06 14 10 06 395 29
50011-14-08 14 12 08 40 29
50011-14-12 14 20 12 455 29
50011-16-08 16 12 08 40.5 30 =l
50011-16-10 16 16 10 455 30
50011-20-10 20 16 10 52 36
50011-20-12 20 20 12 525 36
50011-25-12 25 20 12 56 40
50011-25-16 25 25 16 57 40
50011-30-16 30 25 16 63 44
50011-30-20 30 3 20 64 44
50011-38-16 38 25 16 69 50
50011-38-20 38 3 20 70 50
2. Yo 50012-xX-XX ©

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

42


http://www.lomoflex.com
mailto:info@lomoflex.com

A7 HOSE FITTING

50091
00° i3 A
90° METRIC ATANDPIPE STRAIGHT
DIN235
— S
s FE D w«ﬁé Fif? 7 - 0or

s A C H
50091-06-03 6 5 03 26.5 22 42.5
50091-06-04 6 6 04 30 22 455
50091-08-05 8 8 05 33 24 50.5
50091-08-06 8 10 06 35.3 24 52.8
50091-10-05 10 8 05 33 23 49.5
50091-10-06 10 10 06 353 23 51.8
50091-12-06 12 10 06 35.36 23 53.8
50091-12-08 12 12 08 41 23 59
50091-15-06 15 10 06 353 25 53.8 ZI%—'CZ/”
50091-15-08 15 12 08 41 25 59
50091-18-08 18 12 08 41 26 60
50091-18-10 18 16 10 56.5 26 64.5
50091-22-10 22 16 10 56.5 28 66.5
50091-22-12 22 20 12 65.5 28 76
50091-22-16 22 25 16 76.7 28 81.5
50091-28-16 28 25 16 76.7 30 835
50091-35-20 35 32 20 93 36 100.5
50091-08-04 8 6 04 30 24 475
50091-10-04 10 6 04 30 26 49.5
50091-12-04 12 6 04 30 26 49.5
50091-12-05 12 8 05 33 26 52.5
50091-14-06 14 10 06 353 29 57.8
50091-14-08 14 12 08 41 29 63
50091-16-08 16 12 08 41 30 64
50091-16-10 16 16 10 56.5 30 68.5 1—5' 7
50091-20-10 20 16 10 56.5 36 74.5
50091-20-12 20 20 12 65.5 36 85
50091-25-12 25 20 12 65.5 40 89
50091-25-16 25 25 16 76.7 40 93.5
50091-30-16 30 25 16 76.7 40 93.5
50091-30-20 30 32 20 91.5 44 108.5
50091-38-16 38 25 16 76.7 50 115.5
50091-38-20 38 32 20 91.5 50 114.5

=L R R R ;ﬂ;;l;ﬁfg‘f o 2. QLI%TE‘P ';@‘;?:Zﬁ’?‘ﬁ*‘ﬂ Yo 50092-xx-XX ©
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER I550092-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

43


http://www.lomoflex.com
mailto:info@lomoflex.com

A7 HOSE FITTING

2 51011
. | [l S
Lot tz/éﬁé— ==
BSP STANDARD PIPE
o WY E D A N A
A [ = A C
51011-04-03 4 5 27 17
51011-06-03 6 5 30.5 19
51011-06-04 6 6 31 19
51011-08-04 8 6 31 19
51011-08-05 8 8 31.5 19
51011-08-06 8 10 32 19
51011-10-04 10 6 35 22
51011-10-05 10 8 35 22
51011-10-06 10 10 35 22
51011-12-05 12 8 35 22
51011-12-06 12 10 35 22
51011-14-06 14 10 35 22
51011-14-08 14 12 35.5 22
51011-16-06 16 10 35 22
51011-16-08 16 12 36 22
51011-16-10 16 16 36.5 22
51011-16-12 16 20 38 22
51011-18-12 18 20 41.5 24
51011-22-12 22 20 45 28
51011-22-14 22 22 45 28
51011-28-16 28 25 49 30
51011-34-20 34 32 53 33
51011-42-24 42 40 57 35

LR R R Sy 2 QLI?ITE'P ELES S RS Yo 51012-XX-XX ©
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS51012-XX-XX.

LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

A7 HOSE FITTING

51091

90° [k 2 AP

90°BSP STANDARD PIPE
o W9 E D R ® N

LS = Al Cc | H
51091-06-04 6 6 04 30.5 19 42.5
51091-06-06 6 10 06 35.3 19 47.8
51091-08-04 8 04 30 19 42.5
51091-08-05 8 05 33 19 45.5
51091-10-04 10 6 04 30 22 45.5
51091-10-06 10 10 06 35.8 22 | 50.8
51091-12-06 12 10 06 35.3 22 50.8
51091-12-08 12 12 08 41 22 56
51091-14-06 14 10 06 35.3 22 50.8
51091-14-08 14 12 08 41 22 56
51091-15-10 15 16 10 56.5 26 64.5
51091-16-08 16 12 08 42 22 56
51091-16-10 16 16 10 56.5 22 60.5
51091-18-10 18 16 10 56.5 24 62.5
51091-18-12 18 20 12 64.9 24 72
51091-22-14 22 22 14 71.2 28 77
51091-28-16 28 25 16 76.7 30 83.5
51091-34-20 34 32 20 91.5 33 97.5
51091-42-24 42 40 24 109.4 35 113

e M uc s N ?’ﬂ;ﬁ'lﬁ\?‘f o 2. i/D%TE'Jj ELES SRS Yo 51092-XX-XX ©
NOTE : 1. FOR USE WITH BRAIDED HOSES2. IF USE WITH SPIRAL HOSES , HOSE FITTING
SERIES NUMBER IS 51092-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

A7 HOSE FITTING

NL
= = NS
RETAINING NUT L.T.

e

2
S fEZr E B N A ESIEE
C D S2 MPa

NL-12 M12X1.5 14.5 14

NL-14 M14X1.5 14.5 17

NL-16 M16X1.5 10 15.5 10 19

NL-18 MI8X1.5 12 15.5 12 22

NL-22 M22X1.5 15 17 15 27

NL-26 M26X1.5 18 18 18 32 e
NL-30 M30X2 22 20 22 36 L
NL-30D M30X1.5 22 19 22 36

NL-36 M36X2 28 21 28 41
NL-36D M36X1.5 28 21 28 41

NL-45 M45X2 35 24 35 50

NL-45D M45X1.5 35 25 35 50

NL-52 M52X2 42 24 42 60

NS-14 M14X1.5 16.5 17

NS-16 M16X1.5 16.5 19

NS-18 MI8X1.5 10 17.5 10 22

NS-20 M20X1.5 12 17.5 12 24

NS-22 M22X1.5 14 20.5 14 27 Fr=9l
NS-24 M24X1.5 16 20.5 16 30 S
NS-30 M30X2 20 24 20 36

NS-36 M36X2 25 27 25 46

NS-42 M42X2 30 29 30 50

NS-52 M52X2 38 325 38 60

46
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com

Tel/Fax:+86-(0)532-68985669


http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

A
c
2

.

12211

BSP MALE O-RING SEAL

PATIH LY O PR

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

S A9 D i 0 gl L
DR = f A C H
12211-04-04 G1/47X19 6 04 24 11 19
12211-04-06 G1/47X19 10 06 23.5 11 19
12211-06-06 G3/8”X19 10 06 26 12 22
12211-08-04 G1/2”X14 6 04 33.5 14 27
12211-08-06 G1/2”X14 10 06 33.5 14 27
12211-08-08 G1/27X14 12 08 30 14 27
12211-10-10 G5/87X14 16 10 34 | 155 30
12211-12-10 G3/4”X14 16 10 35 15.5 32
12211-12-12 G3/47X14 20 12 35 15.5 32
12211-12-16 G3/47X14 25 16 36 15.5 32
12211-16-16 G17X11 25 16 41 18.5 41
12211-20-20 G1.1/4°X11 32 20 45 20 50
NG W et o R o ‘ﬁr;lﬁ Voo 2. YPShHIT EEREUATEOE Yo 12212-XX-XX °
NOTE : 1. FOR USE WITH BRAIDED HOSES?2. IF USE WITH SPIRAL HOSES , HOSE FITTING
SERIES NUMBER IS 12212-XX-XX.
LOMOFLEX CO.,LTD

47


http://www.lomoflex.com
mailto:info@lomoflex.com

*ET}%J\ HOSE FITTING

)
N
. %% 12611
. =
' R BSP MALE 60°CONE SEAT
FOATIHEREY 60 7 [t EEE

[ YA iE D RS N A
SELE = # A C s1

12611-02-03 G1/87X28 03 22 10 12
12611-04-04 G1/4”X19 04 24 12 14
12611-06-05 G3/8”X19 05 26 13.5 17
12611-06-06 G3/87X19 10 06 26 13.5 17
12611-06-08 G3/8”X19 12 08 26.5 | 13.5 19
12611-08-06 G1/27X14 10 06 30.5 16 22
12611-08-08 G1/27X14 12 08 30.5 16 e
12611-10-08 G5/87X14 12 08 325 | 175 24
12611-10-10 G5/8”X14 16 10 34 17.5 24
12611-12-08 G3/4”X14 12 08 355 | 185 27
12611-12-10 G3/4”X14 16 10 37 18.5 27
12611-12-12 G3/4°X14 20 12 36 18.5 27
12611-16-12 G17X11 20 12 40.5 | 20.5 36
12611-16-16 G17X11 25 16 425 | 20.5 36
12611-20-16 G1.1/4°X11 25 16 43.5 | 205 46
12611-20-20 G1.1/47X11 32 20 445 | 20.5 46
12611-24-20 G1.1/27X11 32 20 49 23 50
12611-24-24 G1.1/27X11 40 24 49 23 50
12611-32-32 G27X11 50 32 545 | 255 65

NOTE : L.

B LA G . 2
FOR USE WITH BRAIDED HOSES
HOSE FITTINGS SERIES NUMBER IS12612-XX-XX.

T AT

2.

Yo 12612-xX-XX ©
IF USE WITH

SPIRAL HOSES

>

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

48


http://www.lomoflex.com
mailto:info@lomoflex.com

ﬁ?ﬁ%—} HOSE FITTING
- 12611A
i ?/7“!5 ¥ 60 ° HIEI} @‘/ﬂ EJ rup[
“"%; 2 MEA R R
- J_”_| I BSP MALE DOUBLE USE FOR 60°CONE SEAT
OR BONDED SEAL
rH YA iE D B W N
S = A C S1
12611A-02-03 G1/87X28 5 03 22 10 14
12611A-04-04 G1/4°X19 6 04 25 12 19
12611A-04-05 G3/87X19 8 05 25 12 19
12611A-06-05 G3/87X19 8 05 26 13.5 22
12611A-06-06 G3/87X19 10 06 27.5 13.5 22
12611A-06-08 G3/87X19 12 08 28.5 13.5 22
12611A-08-06 G1/2”X14 10 06 33 16 27
12611A-08-08 G1/2”°X14 12 08 32 16 27
12611A-08-10 G1/2”X14 16 10 32 16 27
12611A-10-08 G5/87X14 12 08 35 17.5 30
12611A-10-10 G5/87X14 16 10 36 17.5 30
12611A-12-08 G3/47X14 12 08 36.5 18.5 32
12611A-12-10 G3/4°X14 16 10 37.5 18.5 32
12611A-12-12 G3/47X14 20 12 38 18.5 32
12611A-16-12 G17X11 20 12 42.5 20.5 41
12611A-16-16 G17X11 25 16 43 20.5 41
12611A-20-16 G1.1/4°X11 25 16 45.5 20.5 50
12611A-20-20 G1.1/47X11 32 20 45.5 20.5 50
12611A-24-24 G1.1/27X11 40 24 50 23 55
12611A-32-32 G27X11 50 32 54.5 25.5 70
PEl WU A ﬂ‘F”ﬁ e 2. WPQT; ST T Tl 3 V2 12612A-XX-XX ©
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,

HOSE FITTINGS SERIES NUMBER IS 12612A-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

J

\_\'\%\‘h
) R A
T
22611-T 22611-W
-, E'Iv E»E 7][ I:Ll
BSP FEMALE 60°CONE
A A9t D frt S
S = A C S2
22611-02-03 G1/87X28 5 03 15 55 14
22611-02-04 G1/87X28 6 04 175 | 55 14
22611-04-03 G1/47X19 5 03 17 55 19
22611-04-04 G1/4°X19 6 04 19 | 55 19
22611-04-05 G1/47X19 8 05 19 55 19
22611-04-06 G1/4°X19 10 06 19 | 55 19
22611-06-04 G3/8”X19 6 04 21 6.3 22
22611-06-05 G3/87X19 8 05 21 6.3 22
22611-06-06 G3/8”X19 10 06 21 6.3 22
22611-06-08 G3/87X19 12 08 21.5 6.3 22
22611-08-06T G1/2°X14 10 06 21 75 27
22611-08-08 G1/2°X14 12 08 23 75 27
22611-10-08 G5/87X14 12 08 235 | 95 30
22611-10-10 G5/87X14 16 10 245 | 95 30
22611-12-08T G3/4°X14 12 08 22 | 109 | 32
22611-12-10 G3/4°X14 16 10 245 | 109 | 32
22611-12-12 G3/4°X14 20 12 245 | 109 | 32
22611-16-12T G17X11 20 12 24 | 117 | 41
22611-16-14 G17X11 22 14 26 | 117 | 41
22611-16-16 G17X11 25 16 275 | 117 | 41
22611-20-16T G1.1/47X11 25 16 275 | 11 50
22611-20-20W G1.1/47X11 32 20 305 | 11 50
22611-24-20T G1.1/2°X11 32 20 32 13 55
22611-24-24W G1.1/2°X11 40 24 32 13 55
22611-32-24T G27X11 40 24 30 16 70
22611-32-32W G27X11 50 32 319 | 16 70
PEl N U e | ‘kJ‘Wﬁ e 2 i/[lﬁfT“ ELE T iy TN Y 22612-XX-XX ©
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,
HOSE FITTINGS SERIES NUMBER IS 22612-XX-XX.
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

50


http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

L A
| )/.ﬂ)rl/? i A o
ﬂé“ | [T 22611D
roaST L Z o
= ORI EREY 60° I DY A F
BSP FEMALE 60°CONE DOUBLE HEXAGON
B fhE D o f N
S = A C S1 S2
22611D-04-04 | G1/4”X19 6 04 245 | 55 19 19
22611D-06-06 | G3/8"X19 10 06 27 | 63 | 22 22
22611D-08-08 | G1/2”X14 12 08 305 | 7.5 | 27 27
22611D-10-08 | G5/8"X14 12 08 31 | 95 | 30 30
22611D-12-08 | G3/4”X14 12 08 315 | 109 | 32 32
22611D-12-12 | G3/4°X14 20 12 345 | 109 | 32 32
22611D-16-16 G1”X11 25 16 385 | 117 | 41 41
22611D-20-20W | G1.1/4°X11 32 20 44 11 | 50 50
SR M S ALl ftJ‘EIZﬁ iy e 2. QLIPQTF' el iy AR Y9 22612D-xx-xX °
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES ,
HOSE FITTINGS SERIES NUMBER IS 22612D-XX-XX.
C A
| .//%J/'_ i FiF P
; 22611D-SM
Sl I
. T PR 607 ST
BSP FEMALE 60°CONE DOUBLE HEXAGON
R W9t D B N A
SERE ¥ H A C S1 S2
22611D-04-04SM | G1/4”X19 6 04 235 | 55 12 19
22611D-06-06SM | G3/8”X19 10 06 245 | 63 17 22
22611D-08-08SM | G1/2°X14 12 08 29 | 75 | 22 27
22611D-10-08SM | G5/8”X14 12 08 29 | 95 | 22 30
22611D-12-08SM | G3/4”X14 12 08 315 | 109 | 27 32
22611D-12-12SM | G3/4”X14 20 12 335 | 109 | 27 32
22611D-16-16SM G17X11 25 16 355 | 117 | 32 41
22611D-20-20SM | G1.1/4”X11 32 20 42 11| 41 50
PEl N U e | ‘ﬁJ‘Wﬁ e 2 i/[lﬁT“ ELESTY i TN Y 22612D-xx-xxSM ©
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES ,

HOSE FITTINGS SERIES NUMBER IS 22612D-XX-XXSM.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

51


http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

22641 22641-T 22641-W
45° T IEY 607 9h i
45°BSP FEMALE 60°CONE
AR WHE D A N

SEE | R OH A C H S2

22641-04-04 G1/47X19 6 04 40 | 55 21 19
22641-06-04 G3/87X19 6 04 432 | 63 21 22
22641-06-05 G3/87X19 8 05 453 | 6.3 22 22
22641-06-06 G3/87X19 10 06 47 | 63 24 22
22641-08-06T G127X 14 10 06 48.1 | 7.5 | 239 | 27
22641-08-08 G1/2°X14 12 08 59.5 | 15 27 27
22641-10-08 G5/87X 14 12 08 614 | 95 | 265 | 30
22641-10-10 G5/8”X14 16 10 63 | 95 29 30
22641-12-08T G3/47X 14 12 08 61.8 | 109 | 269 | 32
22641-12-10 G3/47X14 16 10 63 | 109 | 29 32
22641-12-12 G3/47X14 20 12 75.5 | 109 | 32 32
22641-16-12T G17X11 20 12 80.8 | 11.7 | 334 | 41
22641-16-16 G17X11 25 16 86 | 117 | 34 41
22641-20-16T G1.1/47X11 25 16 853 | 11 | 31.1 | 50
22641-20-20W | G1.1/4X11 32 20 98.8 | 11 38 50
22641-24-24W | G1.12°X11 40 24 116.8 | 13 | 455 | 55
22641-32-32W G27X11 50 32 1357 | 16 | 527 | 70

PEl W U e ‘tJ‘E'Zﬁ e 2. i/['PQT“ ELIE S i AR Yo 22642-XX-XX °

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,

HOSE FITTINGS SERIES NUMBER IS 22642-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

52


http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

22691-T 22691-W
90° FUFTEREY 607 T HE

90°BSP FEMALE 60°CONE
R [ eE D i R
DR = F A |C H S2
22691-02-03 G1/87X28 5 03 26.5 5.5 31.5 14
22691-02-04 G1/87X28 6 04 27.5 5.5 35.5 14
22691-04-03 G1/47X19 5 03 26.5 5.5 335 19
22691-04-04 G1/47X19 6 04 27.5 5.5 37 19
22691-04-05 G1/47X19 8 05 31 5.5 41.5 19
22691-04-06 G1/47X19 10 06 30 5.5 36.5 19
22691-06-04 G3/87X19 6 04 27.5 6.3 39 22
22691-06-05 G3/87X19 8 05 31 6.3 43.5 22
22691-06-06 G3/87X19 10 06 33 6.3 44.5 22
22691-08-06T G1/27X14 10 06 353 7 433 27
22691-08-08 G1/27X14 12 08 42.5 7.5 53 27
22691-08-10 G1/27X14 16 10 56.5 7.5 55.5 27
22691-10-08 G5/87X14 12 08 42.5 9.5 53.5 30
22691-10-10 G5/87X14 16 10 48.5 9.5 58 30
22691-12-08T G3/47X14 12 08 41 10.9 | 52.1 32
22691-12-10 G3/47X14 16 10 48.5 10.9 58 32
22691-12-12 G3/47X14 20 12 50.5 10.9 66 32
22691-16-12T G17X11 20 12 65.5 11.7 68.3 41
22691-16-14 G17X11 22 14 71.2 11.7 69.3 41
22691-16-16 G17X11 25 16 66 11.7 78.5 41
22691-20-16T GL.1/47X11 25 16 78 11 69.5 50
22691-20-20W G1.1/47X11 32 20 91.5 11 84.3 50
22691-24-24W GI1.1/27X11 40 24 109.4 13 103 55
22691-32-32W G27X11 50 32 131.8 16 123.3 70
L AR T e 20 WIS AT 22692xxexx ¢
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES ,
HOSE FITTINGS SERIES NUMBER IS 22692-XX-XX.
53

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

il

*E?,—}%J\ HOSE FITTING

22691 K

BSP FEMALE CONE DOUBLE HEXAGON

90° o HTHIZY HEY 60° It H
feF | J@9E D i 2 3

SRR = OF A C H S1 S2
22691K-04-04 G1/47X19 04 17.5 5.5 18.5 11 19
22691K-06-04 G3/87X19 04 20 6.3 24 16 22
22691K-06-05 G3/87X19 05 20 6.3 24 16 22
22691K-06-06 G3/8°X19 10 06 20 6.3 24 16 22
22691K-08-06 G1/27X14 10 06 23 7.5 28.5 19 27
22691K-08-08 G1/2°X14 12 08 23.5 7.5 28.5 19 27
22691K-10-10 G5/87X14 16 10 24.5 9.5 30.5 22 30
22691K-12-12 G3/4°X14 20 12 27.5 10.9 33 27 32
22691K-16-16 G17X11 25 16 43 11.7 | 385 33 41

ESE N S A TR Y
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 22692K-XX-XX.

2. I AR

Yo 22692K-XX-XX °

LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com

Tel/Fax:+86-(0)532-68985669

54


http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

k
b
-

[IOOOOI ] ) | e ]
e 1 pm 1 g

22111 22111-T 22111-W

AT SR

BSP FEMALE MULTISEAL
SR HE) B N
SE = ) A C S2
22111-02-04 G1/87X28 6 04 19 2 14
22111-04-03 G1/4°X19 5 03 19 4 19
22111-04-04 G1/47X19 6 04 20.5 4 19
22111-06-05 G3/8”X19 8 05 20 5 22
22111-06-06 G3/8”X19 10 06 22.5 5 22
22111-06-08 G3/8”X19 12 08 21 5 22
22111-08-06T G1/2°X14 10 06 225 6 27
22111-08-08 G1/2°X14 12 08 25.5 6 27
22111-08-10 G1/2°X14 16 10 24 6 27
22111-10-10 G5/8”X14 16 10 26 8 30
22111-10-12 G5/8”X14 20 12 25 8 30
22111-12-08T G3/47X 14 12 08 25 9.5 32
22111-12-10 G3/47X 14 16 10 26 9.5 32
22111-12-12 G3/4”X14 20 12 26 9.5 32
22111-16-12T G17X11 20 12 26.5 11 41
22111-16-14 G17X11 22 14 26.5 11 41
22111-16-16 G17X11 25 16 28.5 11 41
22111-20-16T G1.1/4°X11 25 16 275 11 50
22111-20-20W G1.1/4°X11 32 20 31.5 10 50
22111-24-24W G1.1/27X11 40 24 37 | 115 55
22111-32-32W G27X11 50 32 34 15 70

P LRI T 2 0T SRR 22212000kx -
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 22212-XX-XX.

55
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

22141 22141-T 22141-W
5° % E’T REGEENR
45°BSP FEMALE MULTISEAL
R ED B N H

FRE U A C H S2

22141-02-04 G1/8”X28 6 04 43.7 2 | 216 | 14
22141-04-03 G1/47X19 5 03 41.3 4 | 204 | 19
22141-04-04 G1/4”X19 6 04 43.7 4 | 216 | 19
22141-06-05 G3/87X19 8 05 46.2 5 | 220 | 22
22141-06-06 G3/87X19 10 06 48.1 5 1239 | 22
22141-06-08 G3/8”X19 12 08 60.4 5 | 254 | 22
22141-08-04T G1/27X14 6 04 43.9 6 | 238 | 27
22141-08-06T G1/27X14 10 06 425 6 | 182 | 27
22141-08-08 G1/2°X14 12 08 61.8 6 | 268 | 27
22141-08-10 G1/2°X14 16 10 73 6 29 27
22141-10-10 G5/8”X14 16 10 73.7 8 | 289 | 30
22141-10-12 G5/87X 14 20 12 79.8 8 | 325 | 30
22141-12-08T G3/47X14 12 08 632 | 95 | 283 | 32
22141-12-10 G3/4”X14 16 10 704 | 95 | 296 | 32
22141-12-12 G3/47X14 20 12 80.6 | 9.5 | 332 | 32
22141-16-12 G17X11 20 12 81.6 | 11 | 335 | 41
22141-16-14 G17X11 22 14 833 | 11 33 41
22141-16-16 G17X11 25 16 892 | 11 35 41
22141-20-16T | G1.1/4”X11 25 16 914 | 91 | 371 | 50
22141-20-20W | G1.1/47X11 32 20 1029 | 10 | 412 | 50
22141-24-24W | G1.1/2°X11 40 24 119.8 | 11.5 | 49 55
22141-32-32W G27X11 50 32 1374 | 15 53 70

PEl W U e e ‘tJ‘E'Zﬁ e 2. i/['PQT“ ELIE Sy i AR Yo 22142-XX-XX °

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

SERIES NUMBER 1522142-XX-XX.

LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com

Tel/Fax:+86-(0)532-68985669

56


http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

22191-T 22191-W
907 HAT RV SR

90°BSP FEMALE MULTISEAL

AR HE) B N
ST e A C H S2
22191-02-04 G1/87X28 6 04 30 2 38 14
22191-04-03 | G1/4”X19 5 03 27 4 35 19
22191-04-04 | G1/47X19 6 04 30 4 38 19
22191-04-05 | G1/4”X19 8 05 33 4 | 415 | 19
22191-06-05 | G3/8”X19 8 05 33 5 42 22
22191-06-06 | G3/8”X19 10 06 353 5 | 443 | 22
22191-06-08 | G3/8”X19 12 08 41 5 50 22
22191-08-06T | G1/2”X14 10 06 353 6 | 46.8 | 27
22191-08-08 G1/27X14 12 08 41 6 52.5 27
22191-10-10 | G5/8”X14 16 10 56.5 8 | 575 | 30
22191-10-12 | G5/8”X14 20 12 65.5 8 67 30
22191-12-08T | G3/4”X14 12 08 41 95 | 52 32
22191-12-10 | G3/4”X14 16 10 565 | 9.5 | 585 | 32
22191-12-12 | G3/47X14 20 12 655 | 95 | 68 32
22191-16-12T | GI7X11 20 12 662 | 11 | 68.5 | 41
22191-16-14 G17X11 22 14 712 | 11 | 695 | 41
22191-16-16 G17X11 25 16 76.7 11 75 41
22191-20-16T | G1.1/4”X11 25 16 76.7 | 10 78 50
22191-20-20W | G1.1/4”X11 32 20 923 | 10 | 853 | 50
22191-24-24W | G1.1/2X11 40 24 109.4 | 11.5 | 108 | 55
22191-32-32W G27X11 50 32 133.1 | 15 123.8 70
P LSRR G . 2 I SR 22192x0xx ¢
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES ,
HOSE FITTINGS SERIES NUMBER IS 22192-XX-XX.

57
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

;% 1 ’3’01 1 -SI?
%@U“ﬂﬂ il jﬁu'\'%ﬁ/ﬁ fElzw
_ BSP MALE

o BV E W N
Nl =f A C S1

13011-02-03SP | R1/8”X28 5 03 22 10 12
13011-02-04SP | R1/8”X28 6 04 225 | 10 12
13011-04-04SP R1/4”X19 6 04 27 14.5 14
13011-04-05SP | R1/4”X19 8 05 25 | 154 | 14
13011-04-06SP R1/4”X19 10 06 27 14.5 17
13011-06-04SP | R3/8”X19 6 04 275 | 15 17
13011-06-05SP | R3/8”X19 8 05 265 | 15 | 17
13011-06-06SP | R3/8”X19 10 06 275 | 15 | 17
13011-06-08SP | R3/8”X19 12 08 30 15 | 19
13011-08-06SP | R1/2”X14 10 06 345 | 20 | 22
13011-08-08SP | R1/2”X14 12 08 35 20 | 22
13011-08-10SP | R1/2”X14 16 10 38 20 | 22
13011-08-12SP R1/27X14 20 12 38 20 27
13011-12-08SP | R3/47X14 12 08 37 20 | 27
13011-12-10SP R3/4”X14 16 10 38 20 27
13011-12-12SP | R3/47X14 20 12 385 | 20 | 27
13011-12-16SP R3/4”X14 25 16 39.5 20 32
13011-16-12SP RI7X11 20 12 44 | 255 | 36
13011-16-16SP RI7X11 25 16 45 | 255 | 36
13011-20-20SP | R1.1/4”X11 32 20 49.5 | 265 | 46
13011-24-24SP | R1.1/2”X11 40 24 525 | 265 | 50
13011-32-24SP R27X11 40 24 57 |30 65
13011-32-32SP R27X11 50 32 59 |30 65

s M uc et N ?’ﬂ;ﬁ'lﬁ\?‘f o 2. i/D%TE'Jj ELES SRS Yo 13012-xx-xxSP o
NOTE : 1. FOR USE WITH BRAIDED HOSES2. IF USE WITH SPIRAL HOSES , HOSE FITTING
SERIES NUMBER IS 13012-XX-XXSP.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

—

I

14211

2 & 7l ORPS 9tiBZP= 1 0 #f4

ISO 8434-3—SAE J1453
] ORFS MALE O-RING SEAL
S e 14 0 ! T
SEA = ) A C S1
14211-04-04 9/16”X18 04 0011 223 |98 | 17
14211-06-04 11/16”X16 04 0012 242 | 112 | 19
14211-06-06 11/167X16 10 06 0012 242 | 112 | 19
14211-08-06 13/16”X16 10 06 0014 268 | 12.8 | 22
14211-08-08 13/16”X16 12 08 0014 273 | 12.8 | 22
14211-08-10 13/16”X16 16 10 0014 285 | 12.8 | 22
14211-10-08 17X14 12 08 0016 315 | 155 | 27
14211-10-10 17X 14 16 10 0016 33 | 155 | 27
14211-12-08 1.3/167X12 12 08 0018 365 | 17 | 32
14211-12-10 1.3/167X12 16 10 0018 36 17 | 32
14211-12-12 1.3/167X12 20 12 0018 365 | 17 | 32
14211-16-12 1.7/167X12 20 12 0021 37 | 175 | 38
14211-16-16 1.7/167X12 25 16 0021 395 | 17.5 | 38
14211-20-20 1.11/16”X12 32 20 0025 415 | 17.5 | 46
14211-24-24 2°X12 40 24 0029 445 | 175 | 55
L LA R e 20 T R Y 14212000
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE

FITTINGS SERIES NUMBER IS 14212-XX-XX.

b

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

59


http://www.lomoflex.com
mailto:info@lomoflex.com

F#vi$ ). HOSE FITTING

C A L A C 4

|I“ %A

'{ uuuumj“{ %M'mmmuj“{lyj% I
e = S

24211 24211-T 24211-W
il ORES [*|fRz¥ T i
ORFS FEMALE FLAT SEAT
ISO 12151-1—SAE J516
R 1D R R
N oOE A H S2
24211-04-04 9/16”X18 6 04 25.5 8.5 19
24211-04-05 9/167X18 8 05 22.5 8.5 19
24211-04-06 9/16”X18 10 06 22.5 8.5 19
24211-06-04T 11/167X16 6 04 23.5 10 22
24211-06-05T 11/16”X16 8 05 23.5 10 22
24211-06-06 11/167X16 10 06 26.5 10 22
24211-06-08 11/16”X16 12 08 26 10 22
24211-08-05T 13/16”X16 8 05 25 11 27
24211-08-06T 13/167X16 10 06 24.5 11 27
24211-08-08 13/16”X16 12 08 28 11 27
24211-08-10 13/167X16 16 10 29 11 27
24211-10-08T 17X14 12 08 29 13.5 30
24211-10-10 17X14 16 10 34 13.5 30
24211-10-12 17X14 20 12 34 13.5 30
24211-12-08T 1.3/167X12 12 08 30.5 15 36
24211-12-10T 1.3/167X12 16 10 32.5 15 36
24211-12-12 1.3/167X12 20 12 36.5 15 36
24211-12-16 1.3/167X12 25 16 36 15 36
24211-16-12T 1.7/167X12 20 12 32.5 14.8 41
24211-16-14T 1.7/167X12 22 14 35 14.8 41
24211-16-16T 1.7/167X12 25 16 34.3 14.8 41
24211-16-20 1.7/167X12 32 20 39.5 14.8 41
24211-20-16T 1.11/167X12 25 16 34.5 15 50
24211-20-20W 1.11/167X12 32 20 42.5 15 50
24211-20-24W 1.11/167X12 40 24 42.5 15 50
24211-24-20T 27X12 32 20 36 14.8 60
24211-24-24T 27X12 40 24 37.2 14.8 60
L AP N e 2 YT SRR 24212x00xx ¢
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES ,
HOSE FITTINGS SERIES NUMBER 1824212-XX-XX

60
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

e

24291 24291-T 24291-W
90 * X.fill ORFS [*Jfzv T [
90°ORFS FEMALE FLAT SEAT
ISO 12151-1—SAE J516

SR e E B_F N
DA OB A H C S2
24291-04-04 9/167X18 6 04 27.5 43.5 8.5 19
24291-04-05 9/16X18 8 05 33 |44 8.5 19
24291-06-05T 11/16X16 8 05 33 375 10 22
24291-06-06 11/16”X16 10 06 33 50 10 22
24291-08-08 11/16”X16 12 08 42.5 55 10 22
24291-08-06T 13/167X16 10 06 353 39.8 11 27
24291-08-08 13/167X16 12 08 41 58 11 27
24291-08-10 13/167X16 16 10 56.5 61.5 11 27
24291-10-08T 17X14 12 08 41 46 13.5 30
24291-10-10 17X14 16 10 48.5 67.5 13.5 30
24291-10-12 17X14 20 12 50.5 75.5 13.5 30
24291-12-10T 1.3/167X12 16 10 56 13 15 36
24291-12-12 1.3/167X12 20 12 65.5 78 15 36
24291-12-16 1.3/167X12 25 16 76.7 83.5 15 36
24291-16-12T 1.7/167X12 20 12 65.5 63 14.8 41
24291-16-14T 1.7/167X12 22 14 71.2 63 14.8 41
24291-16-16T 1.7/167X12 25 16 76.9 67.5 14.8 41
24291-20-16T 1.11/167X12 25 16 76.7 67.5 15 50
24291-20-20W 1.11/167X12 32 20 93 100 15 50
24291-24-20T 27X12 32 20 91.5 78.5 14.8 60
24291-24-24T 27X12 40 24 109.4 | 92 14.8 60
E LSRR R e 20 IR SRR 24292-xexx ¢
NOTE : 1. FOR USE WITH BRAIDED HOSES2. IF USE WITH SPIRAL HOSES , HOSE
FITTINGS SERIES NUMBER IS 24292-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

61


http://www.lomoflex.com
mailto:info@lomoflex.com

il

*E?,—}%J\ HOSE FITTING

A
C% 15611
| — s S e
%& NPT MALE
E S1
r~E IV E B W |
SFATE = A C S1
15611-02-03 71/8°X27 5 03 21.5 10.5 12
15611-02-04 Z1/87X27 6 04 22.5 10.5 12
15611-04-03 Z1/4°X18 5 03 27 15 17
15611-04-04 71/4°X18 6 04 27.5 15 17
15611-04-05 71/4°X18 8 05 27.5 15 17
15611-04-06 71/4°X18 10 06 27.5 15 17
15611-06-04 Z73/8”X18 6 04 29 16 19
15611-06-05 73/87°X18 8 05 29 16 19
15611-06-06 Z73/8”X18 10 06 29 16 19
15611-06-08 73/87°X18 12 08 29.5 16 19
15611-08-06 71/2°X14 10 06 33.5 19.5 22
15611-08-08 71/27°X14 12 08 34 19.5 22
15611-08-10 Z1/2°X14 16 10 35.5 19.5 22
15611-12-08 73/47X14 12 08 37 19.5 27
15611-12-10 73/47X14 16 10 37 19.5 27
15611-12-12 73/4°X14 20 12 38.5 19.5 27
15611-12-16 73/47X14 25 16 39.5 19.5 32
15611-16-10 Z17°X11.5 16 10 45 25.5 36
15611-16-12 Z17X11.5 20 12 45 25.5 36
15611-16-16 Z17°X11.5 25 16 47.5 25.5 36
15611-20-16 71.1/4”X11.5 25 16 49 26.5 46
15611-20-20 Z1.1/4°X11.5 32 20 50.5 26.5 46
15611-24-24 Z1.1/2”X11.5 40 24 53.5 27.5 50
15611-32-32 Z27X11.5 50 32 56.5 27.5 65
B LA AT 20 IR BTN 156120000 ¢
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE

FITTINGS SERIES NUMBER IS 15612-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

62


http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

A

C 16011

77/ Xl SAE Sizr O ¥

| ot
) _J&Juumu,

fe!

S

SAE O-RING SEAL

ISO 11962-SAE J1926

R fEZY E Al it 0 ! H ~
SRR | F B A | c s

16011-04-04 7/167X20 6 04 0904 21.5 | 9.1 14
16011-05-04 1/2X20 6 04 0905 21.5 | 9.1 17
16011-06-05 9/16”X18 8 05 0906 225 199 17
16011-06-06 9/16”X18 10 06 0906 225 199 17
16011-08-06 3/47X16 10 06 0908 23.5 11.1 22
16011-08-08 3/47X16 12 08 0908 24 1.1 | 22
16011-10-08 7/87X14 12 08 0910 30 12.7 | 27
16011-10-10 7/87X14 16 10 0910 31 12.7 | 27
16011-12-10 1.1/167X12 16 10 0912 34 15.1 32
16011-12-12 1.1/167X12 20 12 0912 34 15.1 32
16011-16-16 1.5/16”X12 25 16 0916 36 15.1 38

P LR R G e 2 DT AT 16012-xxexx -
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 16012-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

63


http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

64

> A
-
| 7, 16711L
.
z“@(é | UL J1C 74°MALE CONE SEAL LONGER
= Kl TIC 1RV 747 IF 2
R fEZV E W =~ T
DER = A C S1
16711L-04-04 7/16”X20 6 04 43 30.5 17
16711L-05-04 1/27X20 6 04 43 30.5 19
16711L-05-05 1/2”X20 8 05 43 30.5 19
16711L-06-04 9/16”X18 6 04 47 32.5 22
16711L-06-05 9/16”X18 8 05 47 32.5 22
16711L-06-06 9/16”X18 10 06 47 32.5 22
16711L-08-06 3/47X16 10 06 51 36.5 24
16711L-08-08 3/4”X16 12 08 51.5 36.5 24
16711L-10-06 7/8°X 14 10 06 56.5 40 30
16711L-10-08 7/8°X 14 12 08 57 40 30
16711L-10-10 7/8°X 14 16 10 58 40 30
16711L-12-08 1.1/16”X12 12 08 63 445 36
16711L-12-10 1.1/16”X12 16 10 64 44.5 36
16711L-12-12 1.1/16”X12 20 12 64 445 36
16711L-16-12 1.5/16”X12 20 12 66 44.5 41
16711L-16-16 1.5/16”X12 25 16 67 445 41
16711L-20-16 1.5/87X12 25 16 70.5 457 50
16711L-20-20 1.5/8°X12 32 20 71.2 457 50
16711L-24-20 1.7/8°X12 32 20 71.5 46 55
16711L-24-24 1.7/8°X12 40 24 71.5 46 55
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

WAk HOSE FITTING

16711
Sl TIC YRy 74 ° 9 S
IJC 74°MALE CONE SEAL

74

s

T

i

ol
T NJ T
T B B fi J
RER = A | cC S1
16711-04-03 7/167X20 5 03 26 14 12
16711-04-04 7/167X20 6 04 26 14 12
16711-05-04 1/27X20 6 04 26 14 14
16711-05-05 1/27X20 8 05 26 14 14
16711-05-06 1/27X20 10 06 26.5 14 17
16711-06-04 9/167X18 6 04 26.6 14.1 17
16711-06-05 9/167X18 8 05 26.6 14.1 17
16711-06-06 9/167X18 10 06 26.6 14.1 17
16711-08-06 3/47X16 10 06 30.7 16.7 22
16711-08-08 3/47X16 12 08 31.2 16.7 22
16711-10-06 7/87°X14 10 06 343 19.3 24
16711-10-08 7/87°X14 12 08 34 19.3 24
16711-10-10 7/87°X14 16 10 35.8 19.3 24
16711-12-08 1.1/16”X12 12 08 38.5 21.9 30
16711-12-10 1.1/16”X12 16 10 394 21.9 30
16711-12-12 1.1/167X12 20 12 394 21.9 30
16711-12-16 1.1/167X12 25 16 42 21.9 30
16711-14-10 1.3/16°X12 16 10 415 | 226 | 32
16711-14-12 1.3/16"X12 20 12 405 | 226 | 32
16711-16-12 1.5/16°X12 20 12 436 | 231 | 36
16711-16-16 1.5/16°X12 25 16 451 | 231 | 36
16711-20-16 1.5/87X12 25 16 47 24.3 46
16711-20-20 1.5/87X12 32 20 48.3 24.3 46
16711-24-20 1.7/87°X12 32 20 53 27.5 50
16711-24-24 1.7/8°X12 40 24 53.5 27.5 50
16711-32-32 2.1/27X12 50 32 62.9 33.9 65
LR GEIT . 2 WO AERREH 16712000 -
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES ,
HOSE FITTINGS SERIES NUMBER IS 16712-XX-XX.
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

FHE

HOSE FITTING

@l
=3

Kl TIC Gty 74° )

26711 26711-T JIC FEMALE 74°CONE SEAT
o HBiz¥ E B N

R = ) A C S2
26711-04-03 7/167X20 5 03 14.5 9 15
26711-04-04 7/167X20 6 04 15 9 15
26711-05-04 1/27X20 6 04 16 9.5 17
26711-05-05 1/2”X20 8 05 16 9.5 17
26711-05-06 1/27X20 10 06 16.5 9.5 17
26711-06-04 9/16”X18 6 04 16.5 10.5 19
26711-06-05 9/167X18 8 05 16 10.5 19
26711-06-06 9/16”X18 10 06 16.5 10.5 19
26711-06-08 9/16”X18 12 08 16 10.5 19
26711-08-06 3/4°X16 10 06 18 11 24
26711-08-08 3/47X16 12 08 18.5 11 24
26711-08-10 3/4”X16 16 10 19.5 11 24
26711-10-08 7/87X14 12 08 19.5 13 27
26711-10-10 7/87X14 16 10 20.5 13 27
26711-10-12 7/87X14 20 12 20 13 7
26711-12-08T 1.1/167X12 12 08 19 15 32
26711-12-10 1.1/167X12 16 10 21.5 15 32
26711-12-12 1.1/167X12 20 12 21.5 15 32
26711-12-16 1.1/167X12 25 16 235 15 32
26711-14-12 1.3/167X12 20 12 21.5 15 36
26711-16-12T 1.5/167X12 20 12 18.5 16 41
26711-16-16 1.5/167X12 25 16 24.5 16 41
26711-16-20 1.5/167X12 32 20 24 16 41
26711-20-16T 1.5/87X12 25 16 23 17 50
26711-20-20W 1.5/87X12 32 20 26 17 50
26711-24-20W 1.7/87X12 32 20 26.5 20 55
26711-24-24W 1.7/87X12 40 24 26.5 20 55
26711-32-24T 2.1/27X12 40 24 27 23.5 75
26711-32-32T 2.1/2”X12 50 32 27 235 75

NG W et o R o i’ﬂ:ﬁ'ﬁﬁ? o i/[I%TE'P ELES SRS Vo 26712-xX-XX °

NOTE :1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE
FITTINGS SERIES NUMBER 1826712-XX-XX.
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com

Tel/Fax:+86-(0)532-68985669

66


http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

45 7 Sl JIC [ [k

747 ['[HEFT SAE - 1514
45°JIC FEMALE 74°CONE
SEAT
26741 26741-W
e LB i S
DEATE = ¥ A C H S2
26741-04-03 7/16°X20 5 03 376 | 9 | 172 | 15
26741-04-04 7/16°X20 6 04 37 9 18 15
26741-05-04 1/27X20 6 04 405 | 95 | 185 | 17
26741-05-05 1/27X20 8 05 415 | 95 | 20 17
26741-05-06 1/27X20 10 06 446 | 95 | 203 | 17
26741-06-04 9/16"X18 6 04 405 | 105 | 185 | 19
26741-06-05 9/16X18 8 05 42 1105 | 205 | 19
26741-06-06 9/167X18 10 06 44 1105 | 205 | 19
26741-08-06 3/4°X16 10 06 45 |11 215 | 24
26741-08-08 3/4°X16 12 08 565 |11 24 | 24
26741-10-08 7/8”X 14 12 08 575 |13 246 | 27
26741-10-10 7/8”X 14 16 10 60 |13 26 | 27
26741-10-12 7/8X14 20 12 757 |13 289 | 27
26741-12-08 1.1/167X12 12 08 58 |15 255 | 32
26741-12-10 1.1/167X12 16 10 60.5 | 15 27 | 32
26741-12-12 1.1/16”X12 20 12 735 |15 30 | 32
26741-14-12 1.3/167X12 20 12 774 | 15 30 | 36
26741-16-12 1.5/167X12 20 12 774 | 16 30 | 41
26741-16-16 1.5/167X12 25 16 84 | 16 325 | 41
26741-20-20W 1.5/87X12 32 20 95.9 | 17 352 | 50
26741-24-20W 1.7/87X12 32 20 100.9 | 20 40.1 | 55
26741-24-24W 1.7/87X12 40 24 1148 |20 441 | 55
26741-32-32T 2.1/27X12 50 32 1359 235 | 516 | 75
e M bkl ‘tJ‘E'Zﬁ e 2. i/['PQT“ ELIE Sy i AR Yo 26742-XX-XX °
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE
FITTINGS SERIES NUMBER 1S26742-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

il

*ET}%J\ HOSE FITTING

90 “ il JIC J*ifREv
74 ° [MEE SAE T514

90°JIC FEMALE 74°CONE
SEAT
AR BBt E AN o
SEATE = H A C H S2
26791-04-03 7/167X20 5 03 265 | 9 | 305 | 15
26791-04-04 7/167X20 6 04 275 | 9 33 | 15
26791-05-04 1/27X20 6 04 275 | 95 | 335 | 17
26791-05-05 1/2”X20 8 05 31 | 95 | 385 | 17
26791-05-06 1/27X20 10 06 353 | 95 | 393 | 17
26791-06-04 9/16”X18 6 04 275 [105 | 345 | 19
26791-06-05 9/16X18 8 05 31 |105 | 39 | 19
26791-06-06 9/16”X18 10 06 33 |105| 40 | 19
26791-06-08 9/16X18 12 08 358 | 10.5 | 39.8 | 19
26791-08-06 3/47X16 10 06 33 |11 415 | 24
26791-08-08 3/47X16 12 08 25 |11 485 | 24
26791-08-10 3/47X16 16 10 49 |11 475 | 24
26791-10-08 7/87X 14 12 08 425 |13 495 | 27
26791-10-10 7/8”X14 16 10 485 |13 54 | 27
26791-10-12 7/87X 14 20 12 505 |13 62 | 27
26791-12-08 1.1/167X 12 12 08 425 |15 505 | 32
26791-12-10 1.1/167X12 16 10 485 |15 55 | 32
26791-12-12 1.1/16”X 12 20 12 60.5 |15 63 | 32
26791-12-16 1.1/16”X 12 25 16 74 |15 635 | 32
26791-14-12 1.3/167X12 20 12 655 |15 635 | 36
26791-16-12 1.5/16”X12 20 12 655 |16 635 | 41
26791-16-16 1.5/16”X12 25 16 66 |16 755 | 41
26791-20-20W | 1.5/8"X12 32 20 915 | 17 80.5 | 50
26791-24-20W | 1.7/87X12 32 20 91.5 |20 80.5 | 55
26791-24-24W | 1.7/8"X12 40 24 109.4 |20 9 | 55
26791-32-32T | 2.1/2°X12 50 32 133.1 | 23.5 | 121.8 | 75
s s uc s N iﬂé&lﬁﬁ ) DDEE‘TE‘J: ELEE SRS Y 26792-XX-XX ©
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE
FITTINGS SERIES NUMBER IS 26792-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

F#7 . HOSE FITTING

26791K
90° %;ﬁiuﬁgjf’y JIC ['|jEiz¥
74° ['|ZEL SAE 514
90°JIC COMPACT FEMALE 74° CONE SEAT

o BBz E (A N
N e = A C H S1 S2
26791K-04-04 7/16”X20 6 04 17.5 9 18 11 15
26791K-06-04 9/16”X18 6 04 20 10.5 20.5 14 19
26791K-06-06 9/16”X18 10 06 20 10.5 20.5 16 19
26791K-08-06 3/4°X16 10 06 23 11 25 19 24
26791K-08-08 3/4°X16 12 08 235 11 25 22 24
26791K-10-08 7/87°X14 12 08 25 13 27 22 27
26791K-10-10 7/87X14 16 10 25 13 27 22 27
26791K-12-12 1.1/167X12 20 12 29 15 31 27 32
26791K-16-16 1.5/167X12 25 16 43 16 343 33 41
PES W uci s 383 ‘tJ‘Wﬁ e 2 i/['PQT“ ELES 1 P! Yo 26792K-XxX-XX °
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,
HOSE FITTINGS SERIES NUMBER IS26792K-XX-XX.
A
C 17811
el e
2 =
g<><é | LT ONE
i S1
SR 2t E i w -
SAFA = A C S1
17811-04-04 7/16°X20 6 04 255 12.7 12
17811-05-05 1/27X20 8 05 27 14.2 14
17811-06-06 5/87X18 10 06 28.5 15.7 17
17811-08-08 3/47X16 12 08 34 19 22
17811-10-10 7/8”X14 16 10 385 224 24
17811-12-12 1.1/167X14 20 12 44 254 30
L R R ftrpéﬁ{ i - 2. prQTF' ELET i AV Y9 17812-xx-XX °
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES |,

HOSE FITTINGS SERIES NUMBER IS 17812-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

7.  HOSE FITTING

27811
%‘Lﬁjﬂ SAE [*|lElz¥
90° T/ SAE  J513
| SAE FEMALE 90°CONE SEAT

| T

20°
E

oo WY E A S
S O A | C S2

27811-04-03 7/16”X20 5 03 14 9 15
27811-04-04 7/16”X20 6 04 15 9 15
27811-05-05 1/27X20 8 05 16 9.5 17
27811-06-04 5/87X18 6 04 17 | 113 | 22
27811-06-05 5/87X18 8 05 17 [ 113 ] 22
27811-06-06 5/87X18 10 06 17 | 113 22
27811-08-08 3/47X16 12 08 185 | 11 24
27811-10-08 7/87X 14 12 08 185 |13 27
27811-10-10 7/87X 14 16 10 20.5 |13 27
27811-12-12 1.1/167X14 20 12 215 | 143 | 32

IESl Nl R b ’ﬂ;'iﬁg‘( 2. vpﬁfﬂjj B SR Vo 27812-XX-XX ©

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

SERIES NUMBER IS27812-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

A

=

o] -

WLMLIULMJ,

21611

ﬂ\ﬁrﬂ NPSM HEE
NPSM  FEMALE 60°

CONE

© 9t SAE J514

AR WY E (RS i S
I = A B S2
21611-04-04 1/47X18 6 04 18 | 4.6 19
21611-04-06 1/47X18 10 06 19 | 46 19
21611-06-04 3/87X18 6 04 19 6 22
21611-06-05 3/87X18 8 05 19 6 22
21611-06-06 3/8”X18 10 06 19 6 22
21611-08-08 127X 14 12 08 215 |75 27
21611-12-10 3/47X14 16 10 24 |89 32
21611-12-12 3/47X14 20 12 24 |89 32
21611-16-12T 1”X11.5 20 12 25 | 105 | 41
21611-16-16 1”X11.5 25 16 27 105 | 41
21611-20-20W | 1.1/4°X11.5 32 20 295 | 112 | 50
21611-24-24W | 1.1/2°X11.5 40 24 295 | 112 | 55
L LA R e 20 T BT 216120k
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE
FITTINGS SERIES NUMBER 1821612-XX-XX.
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

F#7 . HOSE FITTING

\ 87312

SAE =" 3000PSI
7y SAE FLANGE 3000 PSI

ISO 12151-3—SAE J516
I

Iz
J

D

—

o gy B w N

A | FOH Alc]|] o |¢L
87312-08-08 1/2” 12 08 45.5 30.2 24 6.73
87312-12-08 3/4” 12 08 47.5 38.1 31.7 6.73
87312-12-10 3/4” 16 10 49 38.1 31.7 6.73
87312-12-12 3/4” 20 12 48.5 38.1 31.7 6.73
87312-12-16 3/4” 25 16 49 38.1 31.7 6.73
87312-16-12 1” 20 12 51 44.4 38 8
87312-16-16 1” 25 16 48 44 .4 38 8
87312-16-20 1”? 32 20 53 44 .4 38 8
87312-20-16 1.1/4” 25 16 57 50.8 43 8
87312-20-20 1.1/4” 32 20 56 50.8 43 8
87312-24-20 1.1/2” 32 20 68 60.3 50 8
87312-24-24 1.1/2” 40 24 74 60.3 50 8
87312-32-24 27 40 24 70 71.4 62 9.53
87312-32-32 27 50 32 70 71.4 62 9.53
87312-40-40 2.1/2” 64 40 76 84.1 74 9.53

PEH Wi u nd A ‘tJ‘F'Zﬁ e 2 i/['PgT“ ELIE S i TS Yo 87312-XX-XX °
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE
FITTINGS SERIES NUMBER IS 87312-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

A7 HOSE FITTING

2
| Z 7 S 1

o

87342

45° SAE #=

3000PSI

45°SAE FLANGE 3000 PSI

ISO 12151-3—SAE J516

Y B W -
DERE = A C D H L
87342-08-08 1/2” 12 08 565 | 302 | 24 | 235|673
87342-12-08 3/4” 12 08 589 | 381|317 24 |6.73
87342-12-10 3/4” 16 10 69.9 | 38.1 (317|253 |6.73
87342-12-12 3/4” 20 12 73.5 | 38.1 | 31.7 | 29.5 | 6.73
87342-16-12 1” 20 12 763 | 444 | 38 289 | 8
87342-16-16 i 25 16 83. |444 | 38 | 31 | 8
87342-16-20 1” 32 20 945 | 444 | 38 [338| 8
87342-20-16 1.1/4” 25 16 82 [508 | 43 305 | 8
87342-20-20 1.1/4” 32 20 95 508 | 43 | 36 | 8
87342-24-20 1.1/2” 32 20 959 603 | 50 |352| 8
87342-24-24 1.1/2” 40 24 108 | 603 | 50 | 42 | 8
87342-32-24 r 40 24 109.9 | 714 | 62 | 39.1 | 9.53
87342-32-32 2” 50 32 1293 |71.1 | 62 | 43 |9.53
G20 Bl il ind SR = TEAL LG TS WPQT; LT T T 3 Vo 87342-XX-XX ©
NOTE :1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE
FITTINGS SERIES NUMBER IS 87342-XX-XX.
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

73


http://www.lomoflex.com
mailto:info@lomoflex.com

il

*E?,—}%J\ HOSE FITTING

A

i
fLHM

87392

90 “ SAE %= 3000PSI
90°SAE FLANGE 3000 PSI

| D
Arfl_ ISO 12151-3—SAE J516
c
oH | BY W i 1 =

N [ = F A C D H L
87392-08-08 1/2” 12 08 42.5 30.2 24 48 6.73
87392-12-08 3/4” 12 08 42.5 38.1 | 31.7 50 6.73
87392-12-10 3/4” 16 10 56 38.1 | 31.7 | 52.5 | 6.73
87392-12-12 347 20 12 60.5 | 381 [317| 625 | 6.73
87392-12-16 3/4” 25 16 76.7 38.1 | 31.7 | 67.5 | 6.73
87392-16-12 1” 20 12 65.5 | 444 [38 | 62 | 8
87392-16-16 1” 25 16 66 44.4 | 38 74 8
87392-16-20 1” 32 20 915 | 444 [38 | 785 | 8
87392-20-16 1.1/4” 25 16 76.7 50.8 | 43 67.5 8
87392-20-20 1.1/4” 32 20 75 50.8 | 43 86 8
87392-20-24 1.1/4” 40 24 107 | 50.8 |43 78.5 8
87392-24-20 1.1/2” 32 20 75 60.3 | 50 90 8
87392-24-24 1.1/2” 40 24 89 60.3 | 50 102 8
87392-32-24 27 40 24 1094 | 714 [62 | 94 | 9.53
87392-32-32 27 50 32 1155 | 714 |62 | 129.5 | 9.53
87392-40-40 2.1/2” 64 40 131.8 | 84.1 | 744 | 1163 | 9.53

B L PR T AT -

NOTE : 1.
HOSE FITTINGS SERIES NUMBER IS 87392-XX-XX.

2. AT AR

FOR USE WITH BRAIDED HOSES

Yo 87392-xX-XX ©
2. IF USE WITH SPIRAL HOSES |,

LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com

Tel/Fax:+86-(0)532-68985669

74


http://www.lomoflex.com
mailto:info@lomoflex.com

A7 HOSE FITTING

A

Jiine
f—tﬂw

87392-H

90° SAE y*= 3000PSI

| D
JV?LC 90°SAE FLANGE SPECIAL HEIGHT
g B (A ] S
SV R A C D | H L
87392-12-12(H90) 3/4” 20 12 65.5 38.1 32 90 6.73
87392-12-12(H100) 3/4” 20 12 65.5 38.1 32 100 6.73
87392-12-12(H127) 3/4” 20 12 65.5 38.1 32 127 6.73
87392-12-12(H150) 3/4” 20 12 65.5 38.1 32 150 6.73
87392-16-16(H100) 1” 25 16 76.7 44 4 38 100 8
87392-16-16(H127) 17 25 16 76.7 444 | 38 127 8
87392-16-16(H150) 1” 25 16 76.7 444 | 38 150 8
87392-20-20(H100) 1.1/4” 32 20 91.5 50.8 | 43 100 8
87392-20-20(H157) 1.1/4” 32 20 91.5 50.8 | 43 127 8
87392-20-20(H150) 1.1/4” 32 20 91.5 50.8 | 43 150 8
87392-24-24(H127) 1.1/2” 40 24 109.4 50.8 | 50 127 8
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com

Tel/Fax:+86-(0)532-68985669

75


http://www.lomoflex.com
mailto:info@lomoflex.com

il

*E?,—}%J\ HOSE FITTING

FL 3000 PSI HALF FLANGE

FS 6000 PSI HALF FLANGE

SAE K k=

SRR I o ] TEE

A B D H M N Mpa

3000PSI
FL-08 1/2” 54 | 456 | 9 | 62 | 381 |17.5 | MS8X25
FL-12 3/4” 65 | 518 | 11 | 62 | 47.6 | 222 | M10X30 34.5
FL-16 1” 70 | 584 | 11 | 75 | 524 | 262 | MI10X30
FL-20 1.1/4” 79 | 7206 | 11 | 75 | 587 | 30.5 | MI10X30 27.6
FL-24 1.1/2” 91 | 822 | 135 ] 75 | 69.9 | 357 | MI2X35
FL-32 2” 102 | 964 | 135| 9 | 778 | 42.9 | MI2X35 207
FL-40 2.1/2” 114 | 1082 | 135 | 9 | 889 | 50.8 | MI2X40 17.2
FL-48 3” 135 | 1306 | 175 | 9 | 1064 | 61.9 | M16X50 13.8
6000PSI

FS-08 1/2” 56 | 472 | 9 | 72 | 405 | 182 | MS8X30
FS-12 3/4” 71 | 60 | 11 | 82 | 50.8 | 23.8 | MI10X35
FS-16 1” 81 | 69.6 | 135 | 9 | 572 | 27.8 | MI2X45
FS-20 1.1/4” 95 | 772 | 135 | 98 | 66.6 | 31.8 | MI2X45 2
FS-24 1.1/2” 13| 95 | 175 | 12 | 793 | 365 | MI6X55
FS-32 27 133 | 1138 | 22 | 12 | 968 | 44.5 | M20X70

LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

76


http://www.lomoflex.com
mailto:info@lomoflex.com

A7 HOSE FITTING

A

B
. s,

SAE # = 6000PSI

87612

T I
LM SAE FLANGE 6000 PSI
ISO 12151-3—SAE J516
TS TR A ] e
AR = B A C D L
87612-08-08 1/2” 12 08 47.5 31.7 24 7.75
87612-12-10 3/4” 16 10 50.5 413 32 8.76
87612-12-12 3/4” 20 12 51.5 413 32 8.76
87612-16-12 17 20 12 56 47.6 38 9.53
87612-16-16 1” 25 16 52.5 47.6 38 9.53
87612-16-20 17 32 20 61 47.6 38 9.53
87612-20-16 1.1/4” 25 16 65 54 44 10.29
87612-20-20 1.1/4” 32 20 62 54 44 10.29
87612-24-20 1.1/2” 32 20 75 63.5 51 12.57
87612-24-24 1.1/2” 40 24 79 63.5 51 12.57
87612-32-24 2”7 40 24 85 79.4 67 12.57
87612-32-32 2”7 50 32 79 79.4 67 12.57

B LS AR 2 I AR

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

SERIES NUMBER IS 87612-XX-XX.

Yo 87612-xX-XX ©

LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com

Tel/Fax:+86-(0)532-68985669

77


http://www.lomoflex.com
mailto:info@lomoflex.com

A7 HOSE FITTING

2 i
{ 7 /_UMLULIUJJULLLJ
N

87642
45° SAE £

6000PSI

45° SAE FLANGE 6000 PSI

ISO 12151-3—SAE J516

s y il v 0
fH = 2

E = f) A C D H L
87642-08-08 1/2” 12 08 575 31.7 24 25 7.75
87642-08-12 1/2” 20 12 77 31.7 24 | 29.6 7.75
87642-12-10 3147 16 10 72.5 413 32 | 282 8.76
87642-12-12 3/4” 20 12 75.5 413 32 32 8.76
87642-16-16 1” 25 16 86 47.6 38 34. 9.53
87642-20-20 1.1/4” 32 20 100 54 44 40 10.29
87642-24-20 1.172” 32 20 105.8 635 | 51 45.1 12.57
87642-24-24 1.1/2” 40 24 112 63.5 | 51 46 12.57
87642-32-24 2” 40 24 125.4 794 | 67 54.7 12.57
87642-32-32 2” 50 32 143 794 | 67 49 | 12.57

: 1. [—jirhﬂ Fl g J; I‘F}\ F"l 2. v[lﬁzm 3 Jﬁ"‘l"‘f,ﬁ
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

SERIES NUMBER IS 87642-XX-XX.

A

Yo 87642-xX-XX ©

LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

78


http://www.lomoflex.com
mailto:info@lomoflex.com

A7 HOSE FITTING

/ﬁmﬂuuuuum

87692

90° SAE 3E=" 6000PSI

o)
& 90° SAE FLANGE 6000 PSI
| DI
g=
1 ISO 12151-3—SAE J516
o Y A H

SR B A C D H L
87692-08-08 127 12 08 425 | 317 | 24 50 7.75
87692-12-10 3/4” 16 10 56 413 | 32| 565 8.76
87692-12-12 3/4” 20 12 505 | 413 | 32 | 655 8.76
87692-16-12 17 20 12 655 | 476 | 38 69 9.53
87692-16-16 1” 25 16 66 476 | 38 78 9.53
87692-16-20 17 32 20 915 | 476 |38 85.5 9.53
87692-20-16 1.1/4” 25 16 76.7 54 |44 | 785 10.29
87692-20-20 1.1/4” 32 20 75 54 | 44 92 10.29
87692-24-20 1.1/2” 32 20 915 | 635 |5l 94.5 12.57
87692-24-24 1.1/2” 40 24 89 635 | 51 107 | 12.57
87692-32-24 2" 40 24 1094 | 794 |67 116 | 12.57
87692-32-32 2” 50 32 1155 | 794 |67 | 1385 | 1257

. SROIQE|FT SR el S o Shefl [ izt i Y Ny oYY o
PEl N U e | ’F'J;W‘F’\ i 2. i/[lﬁT |7 2k i ) s 87692-xX-XX

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 87692-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

79


http://www.lomoflex.com
mailto:info@lomoflex.com

[ 7% HOSEFITTING

A
B
%ﬁ

60°

(}@ |

| T

18611
Ik ISR 60 ° 91

JIS METRIC MALE 60°CONE SEAT

S1
oo et E B 4

S = A B St
18611-14-04 M14X1.5 6 04 29.5 17 17
18611-16-04 MI16X1.5 6 04 30.5 18 17
18611-16-06 MI16X1.5 10 06 30.5 18 17
18611-18-06 MI8X1.5 10 06 30.5 18 19
18611-20-08 M20X1.5 12 08 35 20 22
18611-22-08 M22X1.5 12 08 355 |20 24
18611-24-10 M24X1.5 16 10 395 | 215 27
18611-30-12 M30X1.5 20 12 455 | 26 32
18611-33-16 M33X1.5 25 16 50.5 | 30 36
18611-36-20 M36X1.5 32 20 56.5 | 33 38
18611-42-24 M42X1.5 40 24 595 | 36 46

L RO ST 2, i/['ﬁz“ R Yo 18612-XX-XX ©

NOTE : L

FITTINGS SERIES NUMBER IS 18612-XX-XX.

FOR USE WITH BRAIDED HOSES 2.

IF USE WITH SPIRAL HOSES , HOSE

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

80


http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

I SRR 60 7 [t

I Eo JIC METRIC FEMALE 60°
W%}%}J SN CONE SEAT
5] ﬁwumuf B | M
SO
28611 28611-W
o iV E A NS
SR F H A | B st | 2
28611-12-14 M12X1.5 6 04 20 9 17 17
28611-14-04W M14X1.5 6 04 23 10.5 19 19
28611-14-06 M14X1.5 10 06 21 10.5 19 19
28611-16-04 M16X1.5 6 04 24 10 22 22
28611-16-05 M16X1.5 8 05 24 10 22 22
28611-16-06 M16X1.5 10 06 24 10 22 22
28611-18-06 M18X1.5 10 06 24 11.5 24 24
28611-18-08 M18X1.5 12 08 24.5 11.5 24 24
28611-20-08 M20X1.5 12 08 28.5 12 27 27
28611-22-08 M22X1.5 12 08 25.5 14 27 27
28611-24-08 M24X1.5 12 08 27.5 15 32 32
28611-24-10 M24X1.5 16 10 28 15 32 32
28611-30-12 M30X1.5 20 12 28.5 18.3 36 36
28611-33-12 M33X1.5 20 12 31 21.3 41 41
28611-33-16 M33X1.5 25 16 32 213 41 41
28611-36-20 M36X1.5 32 20 35.5 20 46 46
28611-42-24W M42X1.5 40 24 36 18.8 55 55
LA R 2 QT ARSI 286120
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE
FITTINGS SERIES NUMBER IS 28612-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

81


http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

|
//JM““W“M 90° [ Tl [HREY 60° [*jEER

90° JIS METRIC FEMALE 60° CONE SEAT

e
28691 28691-W
T Y E (] N
DER = f A B H | SI | 2
28691-14-04W | MI14XL.5 6 04 30 [105] 40 | 19 | 19
28691-14-06 | MI4X15 10 06 353 | 105433 ] 19 | 19
28691-16-05 | MI6X1.5 8 05 33 | 10 | 44 | 22 | 22
28691-18-06 | MISX1.5 10 06 353 | 115|463 | 24 | 24
28691-22-08 | M22X15 12 08 a1 | 14 |s2s5] 27 | 27
28691-24-10 | M24X15 16 10 56 |15 | 59 | 32 | 32
28691-30-12 | M30X1.5 20 12 655 | 183 ]71.5] 36 | 36
28691-33-16 | M33X1.5 25 16 767 |213] 76 | 41 | 41
286913620 | M36X1.5 32 20 93 |20 | 89 | 46 | 46
28691-42-24W | M42X1.5 40 24 1094 [ 188 | 108 | 55 | 55
L ARH A AR e 2 WFE ASRTEH Y 2869200k -
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 28692-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

==

7%

= |
=2 F3

19611
PRI REY 60°

JIS GAS FEMALE 60°CONE SEAT

EE

51
T B E L -

SRR = B A B | Sl
19611-04-04 G1/47X19 3 04 29 16 17
19611-06-06 G3/87X19 10 06 31 18 19
19611-08-08 G1/27X14 12 08 35.5 20 22
19611-12-12 G3/4"X 14 20 ) 41 2 | 30
19611-16-16 GI"X11 25 16 455 | 24 | 36

EO%EF 1. ?O%;IUSE l’\/ITH BRAIDE]j Holjgg " Jﬁ;‘;‘;? ISiE f)éITH ;;ll{lzzill%l-é)égg 0HOSE FITTINGS SERIES NUMBER|

IS 19612-XX-XX.

60"

g

SN

§0°

ISTEE

BEZP 60° T

E=Hl
JIS GAS FEMALE 60°CONE SEAT

JIS B8363
29611 29611-W
g B2 E A i} S
A = A C S1 S2
29611-02-03 G1/87X28 5 03 20 7 14 14
29611-04-04 G1/47X19 6 04 21 8 19 19
29611-04-05 G1/4”X19 8 05 21 8 19 19
29611-06-04 G3/87X19 6 04 23 9 22 22
29611-06-06 G3/87X19 10 06 23 9 22 22
29611-08-06 G1/27X14 10 06 28 12 27 27
29611-08-08 G1/27X14 12 08 26.5 12 27 27
29611-10-10 G5/87X14 16 10 30.5 11.5 30 30
29611-12-10 G3/47X14 16 10 30 13.5 32 32
29611-12-12 G3/47X14 20 12 30.5 13.5 32 32
29611-16-16 G17X11 25 16 32 16 41 41
29611-20-20W G1.1/4"X11 32 20 43 18.5 50 50
29611-24-24W G1.1/27X11 40 24 43.5 19 55 55
29611-32-32W G27X11 50 32 46.5 23 70 70
PE MUy b 5| §j'§ fﬁ:ﬁﬁf 2. ZJD%T“ |7 iz fﬁ A E Y 29612-XX-XX °
NOTE : 1. FOR USE WITH BRAIDED HOSES 2.1F USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES NUMBER IS
29612-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

- RS Lol
e JIS  B8363
90°JIS GAS FEMALE 60°
CONE SEAT
29691 29691-W
R iEZr E A N
R (= I A | C H | Sl | s2
29691-04-04 | G1/4”X19 6 04 30 g8 | 38 |19 | 19
29691-04-05 | G1/47X19 8 05 34 | 8 | 41 |19 19
29691-06-06 | G3/8"X19 10 06 356 | 9 | 458 | 22 | 22
29691-08-08 | G1/2"X14 12 08 41 | 12| 53 | 27 | 27
29691-10-10 | G5/8"X14 16 10 565 [115| 61 | 30 | 30
29691-12-12 | G3/4”X14 20 12 655 [135| 69 | 32 | 32
29691-16-16 GI7XI11 25 16 76.7 |16 | 765 | 41 | 41
29691-20-20W | G1.1/4”X11 32 20 915 |18.5| 925 | 50 | 50
29691-24-24W | G1.1/27X11 40 24 109.4 |19 | 1105 | 55 | 55
29691-32-32W | G2°X11 50 32 1318 |23 | 1338 | 70 | 70
P U e | ‘tJ‘Wﬁ e 2. i/['PQT“ ELIE S i ) Y 29692-xX-XX °
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE

FITTINGS SERIES NUMBER IS 29692-XX-XX.

>

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

84


http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

A
Ly I 88111
7 —
4 L& JIS FLANGE
T q IN] +
roH Wzt E i :
FA = A C D L
88111-10-08 5/8” 12 08 45 342 27.8 6.7
88111-10-10 5/8” 16 10 45.5 342 27.8 6.7
88111-10-12 5/8” 20 12 46 342 27.8 6.7
El M s | ‘ﬁJ‘Wﬁ e 2 i/[lﬁT“ e e Yo 88112-XxX-XX °
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 88112-XX-XX.

EiE
N gL > Fi
; g 45 JIS FLANGE
(€
5 v Ll -
o B E (A J
R e = E A C D H L
88141-10-08 5/8” 12 08 58.9 342 27.8 24 6.7
88141-10-10 5/8” 16 10 69.6 342 27.8 253 6.7
88141-10-12 5/8” 20 12 76.3 342 27.8 28.9 6.7
D U e | ‘tJ‘Wﬁ e 2. QLIPQT“ ELIETTY i AP Yo 88142-xX-XX °
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE

FITTINGS SERIES NUMBER IS 88142-XX-XX.

LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

85


http://www.lomoflex.com
mailto:info@lomoflex.com

Fiivi$ . HOSE FITTING

A

[ 88191
e o s

= 90°JIS FLANGE
?4@
7
C
T q N 5]
S WV E i J
Y[ = A ¢ D H L
88191-10-08 5/8” 12 08 41 342 27.8 48 6.7
88191-10-10 5/8” 16 10 56 | 342 | 278 | 525 | 67
88191-10-12 5/8” 20 12 662 | 342 | 278 | 6 | 67
i M asuc et N ?’ﬂ;ﬁ'lﬁ?‘f o 2. QLI?TE'JJ ELES S RS Yo 88192-XX-XX ©
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE

FITTINGS SERIES NUMBER IS 88192-XX-XX.

A
M 20011-ST
. L RS 5 e S
e 2 R
aak HLEE T
| Mﬂ METRIC FEMALE WATERWASH INSERTS
—
S 2 E i S
SRR = A | d D
20011-22-03ST M22X1.5 5 03 24.5 14 34.5
20011-22-04ST M22X1.5 6 04 25 14 34.5
20011-22-05ST M22X1.5 8 05 25 14 34.5
20011-22-06ST M22X1.5 10 06 25 14 34.5

LR R R Sy 2 QLI?TE'P ELES S RS Yo 20012-xX-XX ©
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 20012-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

86


http://www.lomoflex.com
mailto:info@lomoflex.com

il

*E?,—}%J\ HOSE FITTING

A

= ool
%/ 2.0 ;@ﬁ§¢
= § i METRIC BANJO
| HH DIN 7642
~E [{E) B R

DFRML = A d D H
70011-10-03 M10X1 5 03 14.5 10.1 17 10
70011-10-04 M10X1 6 04 17 10.1 17 10
70011-12-04 M12X1.5 6 04 20.5 12.1 20 12
70011-12-05 M12X1.5 8 05 20.5 12.1 20 12
70011-12-06 MI12X1.5 10 06 20.5 12.1 20 12
70011-14-04 M14X1.5 6 04 19 14.1 24 14
70011-14-05 M14X1.5 8 05 19 14.1 24 14
70011-14-06 M14X1.5 10 06 21 14.1 247 14
70011-16-04 M16X1.5 04 20.5 16.1 28 16
70011-16-05 M16X1.5 05 20.5 16.1 28 16
70011-16-06 M16X1.5 10 06 20.5 16.1 28 16
70011-18-04 M18X1.5 6 04 23 18.1 32 20
70011-18-05 M18X1.5 8 05 24 18.1 32 20
70011-18-06 M18X1.5 10 06 24 18.1 32 20
70011-18-08 M18X1.5 12 08 24.5 18.1 32 20
70011-22-06 M22X1.5 10 06 28.1 22.1 39 25
70011-22-08 M22X1.5 12 08 28.5 22.1 39 25
70011-22-10 M22X1.5 16 10 27.5 22.1 39 25
70011-26-12 M26X1.5 20 12 30.5 26.1 46 30
70011-30-16 M30X1.5 25 16 37 30.1 54 36
70011-30-20 M30X1.5 32 20 41 30.1 54 36

B LR T AR -

2 T AR

Yo 70012-xX-XX ©

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 70012-XX-XX.

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

87


http://www.lomoflex.com
mailto:info@lomoflex.com

5SS

i . HOSE FITTING
C | A
% 2 7OOM
@m e =
| METRIC BOLT
. DIN 7643
g@
, . N
R [BZV E
A B C S1
700M-10 M10X1 19 4 6 14
700M-12 M12X1.5 24 6 6 17
700M-14 M14X1.5 26 8 7 19
700M-16 M16X1.5 28 9 7.5 22
700M-18 MI18X1.5 32 11 8 24
700M-22 M22X1.5 39 14 9 27
700M-26 M26X1.5 45 18 10 32
700M-30 M30X1.5 51 22 11 36

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

88


http://www.lomoflex.com
mailto:info@lomoflex.com

il

*ET}%J\ HOSE FITTING

A
I —
é%L—- 0 72011
i SR it
\v//// L_M_ BSP BANJO
S Bzt E ft_ f L

DER = A d D H
72011-02-03 G1/87X28 5 03 18 9.9 24 16
72011-02-04 G1/8°X28 6 04 18.5 9.9 24 16
72011-04-03 G1/47X19 5 03 19 13.3 24 15
72011-04-04 G1/47X19 6 04 19.5 13.3 24 15
72011-04-05 G1/47X19 8 05 19.5 13.3 24 15
72011-04-06 G1/47X19 10 06 19.5 13.3 24 15
72011-06-04 G3/8°X19 6 04 22 16.7 29 20
72011-06-05 G3/87X19 8 05 22 16.7 29 20
72011-06-06 G3/87X19 10 06 22 16.7 29 20
72011-06-08 G3/87X19 12 08 23 16.7 29 20
72011-08-05 G1/27X14 8 05 27.5 21 38 25
72011-08-06 G1/27X14 10 06 27.5 21 38 25
72011-08-08 G1/27X14 12 08 28 21 38 25
72011-08-10 G1/27X14 16 10 29 21 38 25
72011-10-10 G5/8°X14 16 10 28 23 40 27
72011-12-10 G3/4°X14 16 10 32 26.5 48 31
72011-12-12 G3/47X14 20 12 32 26.5 48 31
72011-16-08 G17X11 12 08 40 33.3 60 42
72011-16-12 G17X11 20 12 40 333 60 42
72011-16-16 G17X11 25 16 41 333 60 42

B L PR T AT -

NOTE : 1. FOR USE WITH BRAIDED HOSES

IR B

SERIES NUMBER IS 72012-XX-XX.

Yo 72012-XX-XX ©
2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

LOMOFLEX CO.,LTD
www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669

89


http://www.lomoflex.com
mailto:info@lomoflex.com

Fi#v ). HOSE FITTING

www.lomoflex.com Email: info@lomoflex.com

Tel/Fax:+86-(0)532-68985669

C | A
. 7L B 720B
@ =
— | T e
\A\&
BSP BOLT
E\[ —;J
S B E
A B C S1
720B-02 G1/87X28 29.5 4.8 4.8 14
720B-04 G1/4°X19 28.5 6 6 19
720B-06 G3/8°X19 38.5 9 7 22
720B-08 G1/2°X14 44 13 8.5 27
720B-10 G5/8°X 14 48.5 15 10 30
720B-12 G3/4°X 14 56 18 10 32
720B-16 G17X11 68.5 22 13 41
— | 90011
MMWUMMHL
. PR E
DOUBLE CONNECTOR

S fr S

DENE ! L
90011-04 6 04 69
90011-05 8 05 69
90011-06 10 06 73
90011-08 12 08 77
90011-10 16 10 89
90011-12 20 12 96
90011-16 25 16 114
90011-20 32 20 132
90011-24 40 24 162
90011-32 50 32 170

i: H|7 Zi41F . NOTE:FOR WIRE BRAID HOSE.
LOMOFLEX CO.,LTD

90


http://www.lomoflex.com
mailto:info@lomoflex.com

A7 HOSE FITTING

90012
/77%% 7"’?[%}%7&
RUHHMMMMH{}HLMHMMMLL. DOUBLE CONNECTOR
L

. T <

SR = # L
90012-04 6 04 83
90012-05 8 05 87
90012-06 10 06 87
90012-08 12 08 91
90012-10 16 10 97
90012-12 20 12 111
90012-16 25 16 134
90012-20 32 20 153
90012-24 40 24 172
90012-32 50 32 178

{157 20207 7. NOTE:FOR SPRIAL HOSE.
LOMOFLEX CO.,LTD

www.lomoflex.com Email: info@lomoflex.com
Tel/Fax:+86-(0)532-68985669



http://www.lomoflex.com
mailto:info@lomoflex.com

